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001 - Introduction

Having completed, the Taitireeya #Tsq#, of Sankaracharya, now we are going to
study, Sankaracharya’s $TST#H on HIUgEY 39fAYg, and ATUZFT FINHT. And you are
familiar with the difference between AT9g#T 39fawe and H1R&T, which I would like
to remember in this context. ATUZFT 39faA¥g, belongs to the AT G whereas
HTU;\WW is a work, written by Gaudapada Acharya, who is Sankaracharya’s
guru’s guru. Grand guru. 9#H ¥ guru. ATZFT 3ufawe itself is a very small text
consisting of only 12 #«4T.. Whereas ATUZFT FIRT is a relatively bigger work.
Consisting of 215 &IR&®T verses. AU 3ufawg contains, a cryptic and profound
teaching, regarding the nature of 3TeAT. And HATIZFT HTRPT is going to be an
elaborate study, of the teachings given in H‘Ws\?qﬂﬁ'qa: Extracting all the hidden
meanings in the 39fag, And because of this reason, the 3ufawg and ®1R&T, happen
to be complimentary pair of works. And therefore, we generally study, #ATOZFH
3ufawe and ATUgFT FINHT together. And the 12, #=4T: of the 3ufa¥g, and the 215,
HIR®T verses, put together, or divided into 4 chapters. The first chapter, titled 33T
YEUTH, is a mixture of both 3uferyg A+AT: as well as GPA ®1R@®Ts. In fact, the entire
3ufawg comes, as a part of the first chapter. Along with 29 FTR®Ts. So, 12 #=AT: +29
HIRHTs, verses put together is the 3TTHA Y&IOTA. And the second chapter titled dUea
YEUTH, consists of only HTR@T verses. Because 39fa¥g is over in the first chapter.
And this 3UeT YHTUIH consists of 38 HTRET verses. Then the third chapter titled,
3gde TEUTH, has got 48 FHINT verses, and the 4™ chapter raTaenfed Yo, the
biggest one, has got 100 HIR@®T verses. And even though the second and third and
fourth chapters do not have 3gafawgjc #=4T: all those three chapters are also analysis
of the B'Qﬁ'q'a: only. They don’t have an independent existence of their own.
Therefore, regularly, there is reference to the HIUZFH 39fawe mantra. And Adi
Sankaracharya has written, commentaries on both the 3ufawg:, as well as the

&IR&®Ts. In short, all the 4 chapters, Sankaracharya has commented upon. I did
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conduct classes on, ATIZFT 3ufawg and wIR®T before. But in the classes before, I
have dealt with only the . There I have not read #Tsd#H, line by line. And
therefore, I call them HH classes, whereas now what we propose to do is study the

T~ itself along with the HerH.

And therefore, I would like to remind you, the suggestion that I regularly give. The
g study will be effective, only if one has studied the ge1®, Without Je1H study,
u=gH study won't be a waste. But it will not have the full impact. Therefore, my
recommendation to all ¥ITsa¥ students is make sure that you hear the &¥ classes.
And even those students, who have studied the §e1q, my recommendation is, may
you be familiar with the moola classes. Then the Wrs® will be more effective. With

this background, I would like to enter into the text. And since \Togerr Iufwg, careful
not {USeh, or AUG. It is neither Juseh nor HUge IUfAug, It is ATUgeET IufAwg, And

since it belongs to the sradur d%, it will have the santi pata which is common to all
the radur IufAwg: which is the well known g @Ulfd: since you are all senior
students and you know the emf=ars, I don’t propose to take the enfeadrs separately.

We will chant the santi pata together first. Thereafter we will go to the text.

36 97¢ HUIA: UM aT: |
&, TRIATAHEST: |

. .
A Safed Iay; |

ombhadram karnébhih $rnuyama dévah |
bhadram pasyémaksabhiryajatrah |
sthirairangaistustuvag-msastanabhih |
vyaséma dévahitarm yadaydh |

Wi 7 gl ggoar:
@t 7: gu fasgaar: |
Wi AEaedt sk |

Wied At ggedfadeng |
3o grifeay: emf=a: emf=a: 11

svasti na indro vrddhasravah
svasti nah pisa visvavédah |
svasti nastarksyo aristanémih |
svasti no vrhaspatirdadhatu ||
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om $éantih éantih $antih ||

And through the RI<IUTS we invoke the grace of the lord, to complete this relatively
bigger project. Without obstacles. And we are going to follow, the HIUgH] REENH
publications of the Gorakhpur. And therefore, the page no I refer to will be the
Gorakhpur edition. If you have some other book, then the page no may not tally.
And like other 3UHYE commentaries Sankaracharya begins with an introductory
YT, In the other SUFYE: the introductory HTSIH started straightaway. But in dfaid
UTH we had some &M TdIdT: The well known pajee TI: qﬁm‘ dId] YHIUTIC: is a
beautiful, & JAIPT written by Adi Sankaracharya in his taitireeya introductory
HI®H, And as in the case of taitireeya HT®H Sankaracharya considers, HIUGH] HI®H
also as an important one. Therefore, here also he starts with two ﬂ?ﬁﬂ?ﬁﬁ:, which
are profound QADI: sumamrising the HIUgHR] @ﬁﬂ‘c{ itself. And both are bigger
ellehl: Profound Taldhl: Which summaries the HIUgH Tﬂﬁﬂﬁfic teaching. So, we will
also start with those two WW: First we will read WW no 1. Page no 22,
SIHTH URRUTH, Hgd Radldl no 1. I will chant. You can repeat after me.

Mangala sloka No.1

I RRER SRR il
Yol U etz YNSRI b s
UtedT TR ST HIS

HRARRATIRIY UG THST STal TAadIST 11 ¢ |l
prajianamsupratanai sthiracaranikarakhyapibhirvyapya loka

bhuktva bhogansthavisthanpunarapi dhisanobhadrasitankamajanyan

pivta sarvanvisésansvapiti madhurabhunjayaya bhojayanno

mayasakhyaturiya paramamrtamaja brahma yattannato:'smi || 1 ||

So, in the 5t line he takes Id FEH d< 3GH oid: ATEHA [ offer my salutations to & the
absolute reality. Which is the very subject matter of ATUga#T 34fawg and FRHT. And
then he describes in the following words. ATIT AsEAT ?:l,ﬂ!ﬂ[ it is known by the
name gﬂm{ The word AT §5€AT [ will explain later. We will see the word E_I;ﬂ'qJ{
gﬁ'ﬂ?{ is the name of HATcHAT F&A the absolute reality. And what type ofgﬂw ?9H

. Absolutely real. 3111? Which is immortal. Deathless. And ajam which is birthless
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also. That #&#s1 I salute. And in the first three lines he says, that §&H« alone is at the
SgTagTR level, empirical level, appearing as Sfiar. §&#+ alone at the absolute level is
appearing at the empirical level as the SflaT: and how does S&A« appear as sfar?

§EAs nature is oc. This OC, forms reflections or G in every body mind sense
complex. Thus every Body Mind Senses (BMS) serves as a darpana: a mirror. So

many bodies are there. Each body is like a mirror. In the mirror, ¥&H extends itself.
And how does it extend? By forming reflection. Even though s&#H is one, how many
reflections are there? Infinite reflections. Like rays coming from Surya, from s&d«
the rays of g yfafaFsr Aa=a9 comes as it were, and they get reflected in the
BMS. And each SfiaT is one fRGTTE: And that SftaT alone, that SfiaT is F&#A’s empirical
ITAR. So, every one of us is an 3¥TdR of FEAT. And this SfiaT alone, goes through or
#EA in the form of SfaT alone, goes through SMaIdavastha waking state and
becomes the waker. That &&= alone, in the form of SfiaT, goes through FacATaEdT
becomes a dreamer. And that &&= alone, what type of §&A? Extended sEeA=T? Sfiar
rupa SE# ST rupam FEH. HAT 38 SNaald ST T HellaeT: Feda: 3 o Sar
: alone goes through deep sleep state and becomes the sleeper. Thus, s&Hd is

empirically available as SfiaT. Playing the roles of waker, dreamer and sleeper. And
since it is empirical reality it is not absolute truth. And that is said in the first three

lines in the first line ST is defined WTST 37/ YaT=: IaTel: means extension. Wdw to
extend. To expand. Extension of what? Oc. So 9lsf means oc. Wsﬂfg' means RC.

HFY: means the reflection. So sEA through its extensions which are in the form of

fRAremsma rupa SfiaT: Thus, in the form of R rupa SfiaT: F&AT expands itself. If

there are 10 mirrors in front of me. I the original one expands and spreads here? In

every mirror, I extend myself. No doubt the mirror extension is mithya. But still is

my own extension. Thus, there is one &#sl in the center. And around sE#sl there
are infinite mirrors in the BMC. In each mirror expands, extends and forms Sfar:

Therefore, W= I gdl: means in the form of REHTE extension. sNaT: are
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available. I am cutting into smaller sentence. The whole f@&T is a very long
grammatical sentence. I am cutting into smaller sentences. ¥&d4 is available in the
form of RIGTHTA which are §&A’s extension as ar:. Where are SflaT: located 2R
T AR FEYT T means IR FAFH SA4T: Sthavaram means non-moving body. What

is non-moving body? Every plant is a non-moving body. And I¥¥ means what?
Moving bodies. Like human animals etc. And each body is like a darpana one is a

moving mirror. And another is non-moving mirror. In both these mirrors, sITfa:
Vyapi means reach out. What reaches out? g reaches out. So ea1f#: reaching
fRremsma reaching sfiar: Thus, up to s31f&: is the description of SfiaT. That is what we
have to note. WA onwards up to &ATMA: is the description of Sfiat: as Rremma or
gfafa#sr da#=a#. And these SflaT: who are going to experience, three types of
experiences’ ¥l T FEH MM and 3TeTeg HFIT. FY HFIT means gross experiences
in which state? In STl 37a¥4T4T. Therefore, we have to supply STRIq IGEAMT in the
waking state. eeTel ST, The word @l&: means T HIFIT. T M. Gross sense
objects. So @¥#: means sense objects bhogya fawam: FAT sFcafar. MTFaa 3fa d:
#TT SJTTT means contacting. Who is contacting? ST is contacting gross sense
objects. And who is Sflar? The lower version of §&#s. And therefore, who is
experiencing? ®&As alone in its lower version as SfidT, is contacting the sense
objects. And after contacting what does it do? FgTfaser $19TeT HeFcar second line

Furfaser M means gross experience’s. Because gross objects will give gross
experiences. And what do you mean by gross? In the waking state sense objects are

silfa®m. It is s1lfa® objects, whereas in ¥@w sense objects are A9H, So #ifas v
is ¥YIH, AlTH R is H&H. So, to differentiate the HATTH T&H fawm: in SrRreaEdT we
say #ifa®, ¥ @A and those sense objects, FATASSH T the gross
experiences H&Fcdl-H{Fcdl means the Siiar enjoys experiences, goes through. So
#&FcdT is in complete. But for our convenience sﬁaﬁ The SfiaT experiences. But in

Sankaracharya’s’ vision, he doesn’t want to say SfiaT experiences. He wants to say
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§EAS in its inferior SflaT version, experiences. Therefore, #: $[gFd? TEH 8.
Because all these are descriptions of €& described in the 4" chapter. So, we will
get a doubt how can you claim s&Hes experiences. It is F&H4 in its lower version is
experiencing. Just as waker in his lower version experience’s dream. Like that SEH«
in its lower version. So TSI HITT 87Fcar. And this SfiaT gets the name faea: the
9YA 91G: So, when I say 9IH UTIG: those students who attended ATUZFT HelH and by
chance remembers, I can use the word 99# 91g: it will make sense for you. For other
students, it is another word. It is called faRd otherwise deareR: safd. ¥ed va fAea:
AT TYH UIG:: HATA. FUA? TYUTASST. AT, S[FFelT FU deFean? FRrememar sfiar wqor
$TFcdT. So, this faea status of FEHA. Act no1. Then the very same S&AH as SfiaT goes

to the second state. Not in the class. But other times.

Up to Fufasse is faea description. And then comes a5/, ge1:31f and again, fargor
3SR, FIATSTATA FEHAN AT FFA. FEH A we have to supply. The very
same S1dT, experiences subtle sense pleasures. And what do you mean by subtle.
Not $iifars Y9I but ATTE I The sense objects are mental, not material. And what
type of subtle sense objects they are described f&sor 3R presented by the
mind itself. 9T means mind. And 3g#TfAdT means highlighted or presented. Or
projected. So fa¥ur IEHTRAATT means mind projected sense objects. And how does
the mind project? &THT =dTe. Here the word &THT represents, either =T, or YRsY
HAT. AT means TRTAT,.S0 AT S+ is one meaning. Another meaning is YReY
HAT 41 because the type of dream depends upon our quy 919. If we have JUIH,
good dreams come. If we have 9T9#, bad dreams come. Therefore, T represents

YIRSY HAT, or =T, And when you say ar&=T what does it mean? During the waking
state, all the experiences get recorded and registered and recordings are called

JIE=T. And that arE=T: by the AT the aTd=T: are activated. Which ar&sT should be

activated will be decided by &#T I might have gone to a temple, and on the way, I

might have seen an accident. Accident also is registered. Temple is also registered.
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But in dream either accident can come or temple can come. Who decides? 9Re¥
decides whether accident should come in dream or temple should come. And

therefore, HTHASTAT, IEY ILHT ITHT S=IT=1. And you have to supply &H T
Sﬁﬁ. Experiences the subtle sense objects. And gets a new name. a1 fRXoTerst:
gfadiam garg::. Which is alone an inferior version of S&Ae only. Therefore, in stead of
saying doI¥: 3F we take FEH T §3Fd. And then what happens? After ST and
Favet, diear |ate 2T -all the attributes of Fdl, $YerdT, TATAT, TEAT: 81T FEATRT
FeEdl. All these attributes obtaining in SITAAEEAT and FECAEEAT, they are all
resolved, in FYF. So AT s0 up to FIHIN is da¥ topic. Now we are going to

9Tt in the third line. Tt faure diear- literally ffear means drinking, swallowing.

Here it means resolving.

So ¥afafa-the SfaT goes to sleep. And who is SfaT:? F&A<T in its inferior version goes
to sleep. Lower version goes to sleep. And at the time of sleep also ST enjoys. What
does it enjoy? HYIHT AYIA means Hleleg. ggﬁm: and 3deg:: BT A, ARG
Tetee: Is called here HYIF. AR is the word. 8 =il §7oT: ST FUION, SARTe:
YICTSI. AT Asa:. 8T, 3T, 81ST:. So, all these are FEAH itself ATAETR version is
called Sfiat. But to give the &&AT wer# for ST, we require another SITagIR® version.
HAT HdT is not enough. AT & &IdT is required. And SfaT is only AT FdT. ST is not
HAT Bl &IdT. Therefore, we require, another thing, AT ®el &dT. Who is he? §2aR:
and $?aX is also what? Another version of the same #&#s. And another version is
YRATfAF version or SATE@EIR version. In YRATfd® no versions. It is absolute and
one. Therefore, ST is also © version. $2aT is also SAT@gIR version. Both of
them are not absolute reality. Disturbing news. In aaﬁr-rmm{he is going to start
saying whoever 39¥T 39TH% E@T-r worshipper worshipped afq‘r-r whoever is in that

aj:‘# he is an unfortunate person.

JURIAIAT & ST SR dcld UNIciRs! 9a a-maT Ul ¥d: | |
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upasanasritd dharma: jaté brahmani vartaté pragutpattérajar sarvam ténasau krpana:
smrta: ||

HAUSHATRINGT is a unique version where 8T is described as unfortunate one.
Everywhere 8% is glorified. But in ATUZE, that is why we should never start with
ATUSHFY. Because ST is in 39T 3UTHAT gdd. Why it is unfortunate? Because 39THaT
is also SATagIR® version. 3URY also is SAT@gIR®. FEA transcends both of them.
Therefore, that §2aX is introduced. ATIAT M. So FAT WIVT, FEAT makes, shar
experience & WA, Look at the sentence very carefully. In the form of §2aX the
SATGEIR version, SEA itself, makes the T, experience SIRId HYM, ¥ 9T and
YT s, Sfar experiences $2aX give the experience. So SfiaT: #g¥d. $eav: st
SfiaT experiences. $2aX causes he ST to experience. And how is $2aT able to do
that? What §&&4 is not able to do? ATIAT through the ATAT afdd, which is <TG
or YRATTdH? qGgI®. Because $2aX is also another reflected consciousness only.

et is a faeTemd in BMSC. $2aX is the reflection in the #RIT the samashti. In the 6t
chapter of PD which we are seeing in Adyar cases, Vidyaranya is going to

elaborately present Sfar is micro reflection. $2aX is macro reflection. Both of them
gfafa#sr da=a9 only. Therefore, AT means AT Yfafew daea o7 M-
causal. $2aT makes the Sfiat experience. And whom does he make experience? Na:
na: means all of us Sfar:. a1: is g ag aaera. 7 1, 3TarA A, 3FAw . gfaciar ag
g9« object of #ISIAl. And here also Sankaracharya doesn’t want to say $?aX
makes. He says S&#s1. So ¥&#sT in the form of $2aT AW -let us understand like that-
§EA in the form of §2aX aY, does that? &A« with Sfilar 3w does that. One F&EAT
alone has got SflaTav also. §2aX ¥ also. If you remove the ¥, a9gTId: we have read
somewhere A9gTAd: TATcH & S g FalcH $9d: | ST shadwdifRar. Therefore,
#EA alone is SET also. FEA alone is $?aT also. Just as waker alone divides himself
in this FTICATGFYT. One FEA alone divides in the form of SfiaT and $?aX. And ST

also. It is not mentioned. We have to understand that also. T& s&# Sfiar SI9rq §2a%
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T, trifurcates. All for what? Fun. But even though it started as fun, it has become
a serious problem. Why? #AT0ZEg we don’t study. Therefore, fun becomes problem.
And that &#s, now you have to connect to 4t line. That ¥&#« which has Sftar aw
and $2aX a¥ and that one which is ¥&A, without a¥, that alone I offer 7AFHR. And
even though that E#H is aajq‘?r and one only, if you take the empirical versions of
§EHAT there are three TAT@@IRG versions. What are they? faea sfiar: d=rar shar; wra
SiarT: three U@ versions are there And if count them as 1, 2, 3 the original 3w
less sEAeT will be counted as fill up the blanks. If you count the 3¥-med ¥&A= [ don’t
know what language it is., if you count ¥&#eT with three a¥s, 3% means costume.

§EA with three different costumes, you call as f2a, d=&, wrar sliar:;. Then the SE#AT
without costume will be counted as the 4, the green room version. Will be called
the 4t, But the counting of the 4t is only from caTagi&® gfee. But from FEASs own

standpoint it can never be counted s 4. Because it is non-dual. It is like, if you count
the mirror versions as 1,2,3,4 -imagine 3 mirrors are there. And there are 4 manes.
1,2,3/ and if the first three mirror reflections you count as 1,2,3 the original I can be

counted as the 4. And 3th within inverted comas. To put the inverted commas,

Sankaracharya says, ngﬂm{ §EAd is the 4t as it were, when you count
along with the =aTagIR& 3 versions. When ®&#e is counted along with the three
SATGEI versions, the original &&= will be called TH. and to that FHIA, which
is the subject matter of 12 #«4T:, +215 &HIRSFT verses, the hero of this book, I offer
dATHR. And how to do dHFHRH to JIIA ? As Ramana mabharishi says in
Saddarsanam mwﬁwz@aﬁw Ramana maharishi asks the question how
can I offer to gﬂ'ﬂ'ﬁ[ which is not an object. Therefore, @Wm is only in one
form. Ramana maharishi says in Saddarsanam. @ﬂﬂmm:[is only in one form.
Remembering the fact, what fact? That I am the @ﬂiﬂ[  3HTcH & 3MTeAT FfaAd: so
by claiming I am the T8#, T a1 va T AATHR: pairerr @@ ss ur@mGsr. T
forsaT Ta g WOt sravyTe va G AREFR: that I do. So this is the first 7gaTer aalaT.

The 2T itself is a profound summary.

001- Introduction (26-02-2016) www.arshaavinash.in



Swami Paramarthananda’s Lectures on Mandukya Bhashyam 18

Now the next @aTT is also FAZITEr AF. It is almost the repetition. These two 2aHTs
are very similar; the sub commentators try to differentiate these #g3rer 2aIHTs. But
very difficult to differentiate. Almost difficult. 3ma=a IR tries to differentiate. First
one is faf&F e, AZITATEROA the second one is, fA¥EHET AFIATEROHA because in the
4 line it says. fécar @alel fa9m. So one is positive #FIAH, another is negative
mangalam. Thus they try to make subtle distinctions. But it is really the difference

between Tweedledum and tweedledi. We will read 2T no2.

Mangala sloka No.2

31 fasyTe fafersTasarT=y URTRIfasT
YA AT ST W&+ G&a |
FaHIFRY T WA Rafar

fEaT AN ORTT Tl =g 11 R |

y0 visvatma vidhijavisayanprasya bhogansthavistha
npascaccanyansvamativibhavajjyotisa svéna siksman |

sarvanétanpunarapi Sanai svatmani sthapayitva

hitva sarvavisesanvigatagunagana patvasau nasturiya || 2 ||

So go to the 4™ line. 3@t T; &: 91T may the T AT or FEH, protect, us. again
o is aj%r—ﬁmagam So if you want to make another hair splitting difference, in the
first FgTer @leT, OIH is TG@H fazar:, in the second one A is Ifeasar. aqus
fAgemArefers to tad UTe: eraaref 9. Yiearsar refers to od UTe: @41 ATeAT. Therefore,
one AT is from dd 9Ig: Id&gre: another is from & 9rg: d&grd. We can make
another form of difference. Because they will ask why two e&¥eTs? Some difference
we have to pint out. Therefore, @ﬂ'&; a4t o 9Tq 91d means, protect. How? el
T, Here protection, is by 7Te 91, And what is that =, That which is TR,
in its original verse becomes faea SfiaT: in its empirical form. That is described in the
first line. I : gOrT: feareAr s7afay. In it empirical RSTTA version, that we have to
borrow from the first @Y. In the form of faeaw sfiat: which is RgTam.in e ¥R
reflection. What does it do? TUTASSIA HIITTeT YR, FATASST 9T means gross sense

objects, which is #ifa® #EMURT means having experienced. 9T + 37 Tg, 9
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conjugation to eat, consume. WRY is *ICIwE 3HSIIH. SO experiences gross
pleasures. And who will determine the quality of the experiences? faf&ist fawar fafer
: means, fafgd FAT. I means aT f3fr ag A means ag RAfeT FAT. 3¢ AT FAT
represents 9oIH, And qUIH includes 9T9H. Therefore, fafsr fawam: qur arq Fat
fawaT: so the sense objects which come in front of us, because of our quIH and 9T9H
, if that day there is 90 YRsH, everyone you meet including autoriksha driver will be
smooth. He will talk nicely. For that also you require some JUI#H especially
autoriksha. You require lot of quI#, So faf&rs fawATe means Yo uTasT fawaTe, 51
means born out of. 3=, YIRY -so that is F&AT with faRa-costume. And thereafter

what does he do? f@2a-costume he drops and puts on the dreamer-costume, d<rH-

costume. That is said in the second line, which we will see in the next class.

+ quine: quifiid quifq gofge=d |
wore qofATe quiAarafRied |
3 ifa: wifer: wifa: o
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002 - Introduction (cont’d)

HZIT et no2. [ will read you can repeat after me.

) fasyre fafersfasarey Hirwifagr
GYrAIRGH AT AN T & |
FaHargRIY - WA R

fEaT AN~ ORTO Tl =g 11 R |

yO visvatma vidhijavisayanprasya bhogansthavistha
npascaccanyansvamativibhavajjyotisa svéna suksman |

sarvanétanpunarapi $anai svatmani sthapayitva

hitva sarvavisesanvigatagunagana patvasau nasturiya || 2 ||

Sankaracharya starts, the #TUZFT $TH with these two HZIT AHT: And in both of
them he is invoking the t-_l,ﬁ'm{ d¥q alone which is the central theme of both the
39fawe: and FIRFT. In the first AT LANFT he said, ITHT deard: HI¥A [ offer AATFR
to that 8T he said. In the second HZIE eATHT the ITART says JHAT: : 9Id. May
that gﬂm{ protect us from ;ra\r—r by giving knowledge? Even though, @ﬂ'ﬂ?{ is not
available for any ¥a98R, And therefore, it cannot be even an object of worship or the
giver of blessing also. We have to translate gﬂ'ﬂﬂ: as ?:l,ﬁ'llT in $°aT T We have to
assume. And then he points out, that one t-_l,ﬂ'm{ alone is appearing in the form of
fa2a a5\ and 9T in the three 31@¥4T: We saw the 4t line first in the last class. faara
JrorerorT: 316t T A1 91, May the q8R™T which is free from all the attributes. That is,
May the ﬁ*l_i'UT @ﬂ'ﬂﬂ: protect is the prayer. And in the first three lines, 3= says
T alone at the SaTagIR®-level is appearing as f&Rd, dsr@ and WT=T. In the first line,
the farRd the waker is described. : faRareaT. F8IH in the form of faed or deamwr:.,
fafersr frwarer gufasar Here u1ed. 9o means experiences or having experienced.
In the last class we saw, W+3r[ ®Tfd to consume to eat. 3realfal,3reafia:: o
conjugation. This is eI« 3eq. After experiencing. TYfASaTe 89T the grossest
sense objects. TIFASST is the superlative degree of ¥YeH, ¥ YA TYfAsar:

gross grosser the grossest. And what kind of sense-objects which present

themselves because of our 9o 4iq FaAT. fafsr fawAr vidhi means & which
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includes 3rer&T. Therefore, faf@st means born out erATAY gur 9T, And fawaTe means
sense objects and sense pleasures. That is & Bel T HIM, 912F. This is the first

stage of f@?d. Up to this we saw in the last class.

In the second line, the Ao is presented. UYId. After experiencing the waking-state,
when the & for waking-state is exhausted, the very same E2ii brings, UG,
because according to RMI, WWUT is also determined by@:ﬂconly. So Y-S YierR
Hfcl WY YT S when thathripens, Wﬁﬁ&ﬂﬁﬂ-ﬁTﬂﬂ-lﬁTﬂ:[we have to supply. In
the form of dreamer or Ao, the R itself experiences, the subtle pleasures. WY

we have to supply. Taken from the first line. So, the very same aﬁm in oAy, only
when ToT9-a¥ is there it comes to Wﬂ@%—plane. Minus dorg-ay, W is beyond all
transactions. 3{UdeRH is @ﬂﬂ But with dor9-a, W can experience. So Y&l
W—ﬁTH:[CﬂTJJ. And how the subtle is pleasures created in dream? It is not the external-
objects, because during dream the external-objects are not here. We experience
the internal-world. And who creates the inner-world. Our own mind itself out of the
dIHT: will create the internal-world. So ¥Hfd fd4dM, Born out of one’s own mind
TG-S, WA IGHAH, And even though all IR are there, which dEHT: must
activated will be determined by UR-FHHI alone will decide, whether good ard-T: will
be activated or bad-ar’ET: So WH(d faHar g&d @, 3ifd fqHar should be adjective to
J&HT which is adjective to U-ﬁTIFIH&IFFf UNTH W14, And for experiencing the world,
we require a light. As in ¥9gH STIfd SRIY, Turing the day time U U@ is there.
During the night time T-UbI is there. If both are absent 3(f-T®T is there. So, so
many luminaries are there to illumine the world. For the inner-dream-world what is
the light? That is given. WH-Alfew, Caitanyam itself lends the light. W NS I,
aﬂﬁmm@ﬂﬁm TYH I Ura, It experiences with the help of the light of the
Self itself. 37T JoW: Wﬁﬂﬁﬁaﬁ is Brihadaranyaka vakyam. And when both the
URST: are suspended. Both UR& means SR Ud URsY. And ST U Ud YR when
both UR& subside ﬂaﬁ Udiq all these attributes as well as experiences, WrHA
Rl they are all the drawn and they are kept dormant in the 3T itself. So, in
the Gﬂ%fgf:[ S{THT DhRUT =Y HTHT, YR Wgﬂﬁ: in the ®RUT 3THT, URT AHTH], %%? STHT
AT, TRIATAT any word you can use. In that 3@, §ai T RITARIET. All of them
are resolved and kept in unmanifest condition. How do you know it is not
destroyed? Next day it again comes back. I: TH: means gradually in hH. W
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RIURIET it is brought to 3{ddd 3H{IRIT once again. Why does the 3{TET use once
again? Because it is a repeated process. ddl to 3fdd. And again 3{ddd. To Hddl.
And again, Jddl to 3{dd.

TFATTTIT Taf: YHITEINH |
T Ui JoaTeaaasios | ¢-9¢ |l

avyaktavyaktaya sarvah prabhavantyaharagame |
ratryagame praliyante tatraivakyaktasarmjfake | 8-18 ||

To indicate that this is not a one-time affair. But it is a repeated cycle. He uses the
word RfU. We have to repeat G I it does that. T RITGRIEI. And these are the
only three states possible for an 3. 371 has got either manifest-attributes in
SIId and ¥GUT or he has got unmanifest-attributes, in “\ﬂﬁf The SR never
becomes ﬁ’iUT He is JUT in manifest or in unmanifest-form. Whereas when the
3T becomes MM, so the 4th line is the description of a 31, which is not possible
for a 3RM. And what does the JTH do? I [ARIMGi-at the time of F-H, Jai fa=WH
{8 -he eliminates, removes all the attributes. All the attributes mean fd%-status,
oRg-status, UTF-status. All the statuses f8@T - and how does he drop the attributes?
Dropping the attributes is not a physical event. It is falsification by knowledge.
Dropping the attributes is falsification by knowledge. I 4ifdid@ld. So, all the

attributes he negates or falsifies through knowledge.

A O oAl el SEuRafd |

oGy R dRT Haard WstRrsia | 8- R |

nanyam gunébhyah kartaram yada drastanupasyati |

gunébhyasca param vétti madbhavam sé6:'dhigacchati ||14- 19||

He understands I am ﬁl‘{i‘UT: to claim I am ﬁ'JIUT: you must be HIOT. Therefore, the

claiming can be done by only f@2a: as faeg, in SRMEEET, not AfdwFeus A, not
T HEEYT. In FEETEEYT, it with the help of T YHIOT, remaining as f&ed, he
understands, and my faR@-status is @A But I am g8I#H. When? All the time.

ST FaoAT YT in all 3raFYT:, Iam JOIA.  The transition is purely intellectual. It is

a cognitive-transformation. Externally physical body and mind will all be there.

Everything will continue. But they are as good as not there. Because it is understood

as f&2an. That is why #eT stiferear. faarer AomTom: So the TIHA in the case of a FTfa
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claims the g8IA_ status. TIIA cannot claim, I am FEAH, in the case of =ATH.
T=IH gets an opportunity to claim I am TE—HA. Poor FHIA, because TIAA by itself
can never claimIam @ﬂ'ﬂﬂ: Register this carefully. E_Iﬁ'm{ by itself can never claim I
am A, A gets an opportunity only when one becomes a #ifaY. ORI is able
to claim I am q8R—A. So faera aroreron 7 qira:; wfay arfdreaerar srafa. A it is evident.

May that {lﬁm{, 9rid- 9T1d, means protects? Not as T-_I,ﬂ'ﬂT But as §?aX may that
protect us. Here protection from where? Not from worldly problems. So may,

protect us from the 3134, self-ignorance. So thus, through these two #Z3Te eAIHT:
not only Sankaracharya offers HZITETEROTH but summarises the entire 39fawg also.
And there are several commentaries for the ATUZEFT HTSIH, Anandagiri has written
on the commentary on the #Ts¥#H, And one 3fef{fd FaFUMEI has written a

commentary on HIUZEH $TST sub commentary on HATUZFT HTSIH, And Anandagiri

makes an academic observation. Though not relevant for us.

Just an observation. So, the first @Y, is in a metre called HGHUGRT metre, which has
got 21 letters. q¥ERT. And the second verse, is in a metre called #«HTHIedT which
has got 17 syllables. ¥ERT has got 21. A«HTHI=dT has got 17. But here peculiarly in
the second HASITATAROTH, the first three lines are in AFYTHIdT. 17 syllables. But the 4
th line we won't observe all these things. The 4% line has got 21 syllables and it is
HGUCGRT. Therefore, three lines one metre. Fourth line another metre. And normally
it is considered a ﬁﬂ'ﬂﬁjﬂ: an irregular metre. And that irreqular construction is
called "Te-ga#; @€ means an irregular metre where some lines are in one metre
and some lines are in another metre. Called ¥ &&T0T 9¢dH. And therefore,

Anandagiri says, it is not a mistake. Such things are there acceptable. Anyway, that

is an aside note. Now we will enter into the introductory $TsJ#.

Mantra 1

NN

SNfddaeafie Jae |
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ey fausl: qivaEH deradRETR YAt TaRuEdpaH A ddeER HATeneid | 3fd T q
QAR SIYAISHI gadean | AR J daid SERINSuRISHI dride YidqHs = | quTy
YHRUT ATRFATYAT Tl adedr |

omityetadaksamidarn sarvam |

anubandha vimarsah tasyopavyakyanam védantarthasarasamgraha bhitamidam
prakaranacatustayamomeétyatadaksaramityadhyarbyaté | amta €va na
prthavasambandhabhidh&yaprayojanani vaktavyani | yanyéva tu védanta
sambandhabhidh€yaprayojanani tanyéveha bhavitumarhanti | tathapi prakarana
vyacirakyasuna samksepato vaktayani |

So, first Sankaracharya mentions the beginning part of the H-l which is within
inverted comas QTG 31&R 3¢ ¥4 is the first AT, And T SURAM is also part of
the T+l This is to indicate that I he is going to comment upon this SUMYE. So, this is
called Udidh U8UH generally they mention the line of the HdTH, to indicate that this
the HT® on this Jd UM, So, mentioning the part of the HdH is called Udiich IgUMH. And
after H@WT@JW{ there must be full stop. And Sankaracharya says, & &R0l
Iy 3R, So Sankaracharya, doesn’t take the 3UMYS as a separate entity.
Because the JUMYS is presented as a part of the first chapter of HIUSH hIRbI.

Therefore, instead of mentioning the JUMHYS, he says I am commenting upon the 4
UFRUM of TEUE HIRGI. So UHRUI Ig¥TH  means the 4 THIUM, UHUH means
vedantic treatise. And why doesn’t he mention the Cﬂlﬁﬁl—q’ because the JUfFNg
becomes the part of the first chapter of the YUl dJV¥UH. Therefore, he says UhU[
JIPYH; the 4 chapters. And how does it begin? Gﬁﬁaﬁ 3R TG beginning with
Sﬂﬁlﬁﬂ_c[. Even though 313@@3?[ is Gfﬂ%lﬁl?{ he doesn’t say @ﬁﬂ‘c{ He says Um0
JJ¥UH because this is part of UhUH only. 3R¥d. And what is the content of these
4 chapters? He says, dard 3 Hd TU8 YdH. TU8 YdH means extract. In this context
U8 must be translated as extract. Extract of what? ¥R:. ¥R; means essence. So, the
extract of the essence, essence of what? dard 3%, the teachings of dall. So, the
extract of the essence, of the teachings of d&I=l is this YPRUT IJVIH, 2aH 3RYd.

And all the 90T I=4T: are not considered original AMEIH. So, what is the original
ATEAH, of d&Tedl, if you ask, F&EH FAT are considered d&TedT AFTH. Because BS
analyses all the Nﬁ'ﬂl'{s, and presents the entire teaching, And therefore, BS, is

defined as, agTedr AFFA. And all other vedantic texts are taken as, dgledl YHIOTH.
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Thus we make a difference between d&T=dr ARFH and dGTedl THIOTH. deTedl AFTH
is the original. And 3gTedT Y&UTH are based on what? d&Tdr eMFFH. And therefore,
what we are now studying is EIH or FHIOTH? We are studying the ¥I0TH  not the
original MEAA. And therefore, Sankaracharya makes a general rule. Whenever a
/ATEIH _has to be studied, we always should mention the 4, factors called 3feJa=tr.
Associated with the TFIH. Because very TEH has got its own unique 3= or 4
factors. So QgI=dT eIFAT also has got its own Aefdet IJsCIHA. 3Ind what are they?
3+, g9+, fawy, &=, In Sunday class, I gave CBSC C standing for candidate.

B standing for benefit. S standing for subject matter. C standing for connection. So
CBSC you can remember because, your children and grandchildren are involved in
State board and CBSE board. Of course, there it is CBSE; here it is CBSC. Candidate,

benefit, subject-matter and connection. These 4 must be presented for every MFH.
deledl ARAA_ also talks about et Tqvedd . In IHYTE! Fed e . And
Sankaracharya observes, since dagledTl Y&OH, is only following the AgTedT AMEAH,
for 9&IUTH, separate HeJde¥l IdseIH will not be there. A 9HIUTH will not have
separate et IJSCIH why? Because Heldetl IscIH, of YHI0TH will be borrowed

from where? dgTedT ATEAH.
And therefore, 90T J=AT: need not mention et TTCIH.

And if somebody asks what is the 3{sJa=¥r IsecIA? Our answer will be whatever, is
the AgT=dT AFFAH you have to only put ditto mark. Therefore, Ata: eva. Since the 4
chapters happens to be JgTedl YhIVTH, HawY FHAT GASATA. In short efawer
9qseaH, CBSC. Yu«& « gFacariet. Need not be separately mentioned. Because
already it has been discussed in dgTedT AMEAH called F&H FAOL. BS is official dgTedr
&I, So YUF o IFdedT we need not mention. We can borrow it from BS.
Therefore, he says, A9 J daTeet el AT FASTATA. Whatever Hefaetr aqsed#

has been mentioned in the original TEAH, A&l means in the original AgTedT ATETH

002- Introduction (04-03-2016) www.arshaavinash.in



Swami Paramarthananda’s Lectures on Mandukya Bhashyam 26

9€H g 7Y, d1f Tq, the same CBSC should be extended here also ﬂﬁgsié‘%cr And
therefore, Gaudapaada Acharya doesn’t mention 3sJde¥l Is¢dH. Straightaway

he starts his STR®T. He doesn’t mention 3ia=4 TsedA, And now Sankaracharya

says, even though Gaudapaada Acharya doesn’t mention, because he expects us
to borrow the same from Brahma Sutras (BS). Therefore, he says, I the

commentator, have the job of reminding the student. Therefore, don’t worry. I will

pluck it from BS. And I will present it. Therefore, he says a9 - still even though we

need not mention. WIUT SATAEATAT by a commentator who is interested in
commenting upon the YT TsedH, . SAREINY qFd 35¢. SARAEIN desiderative.

Hlestog, T 1T UhadeiH. Waqd: Jaaedital. I have to present in a summary form.
And if some of you remember f@aR sagara (VS), in VS, two full chapters were
dedicated exclusively for 3sJdetl ISCIH. Not one page or two pages. Two full
chapters. The first chapter of VS is 3eJde¥l ¥dsed, HATT famaorH. General
discussion on e« TJCIA. One chapter for that. And the second chapter was

titled =t Tgved fIAT AFIOEA. Specific discussion on eaeE TI€IH. So what
was discussed in two chapters in VS, Sankaracharya is going to give. In a nutshell.

Therefore, he uses the word ®&Iud: That means, if you want elaboration, go to VS,
chapter one and chapter two. All extra ordinary gétraaﬁr were raised, no WIS is
possible. No 31f&&HrT is possible. {9 is no possible. All kinds of objection and

defense. And now 3R is going to present. We will read.

T TSI NI TN aRiae = ORI [ARyar=iyeg yaieHagid |

tatra praydjanavatsadhanabhivyafjakat énabhidhéyasambadhdam Satram paramparyén
a visistasambandhabhidhéya prayojanavabhdvati |

BBB

So before introducing the 3fsJd=¥ IdscT Sankaracharya makes a fine distinction, a

hair-splitting distinction between two things. The Y&hI{0T IJ%¢d the 39fawg and the
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HIRT: are called FHIOTH or AT FHIUTA. And this ATETH or FEHIVTH happens to be
ISt W, It is in the form of words and sentences. And therefore, it comes under 2rstr
YHTOT. So §EH | is also ASE TATUT. 3ufANE is also ASE TATOT. ATUTFT FINHT is also
QISE YATOT. And in the class, we are studying 218 WATUT alone. We are analyzing. And
by the analysis of 2t 9HATIT what do we expect? AT fdaR should lead to what?
Enquiry of WATOT should lead to WAT or ATH, So AMFAH and THIUIH, generates FATAH.
So, in Sanskrit, WHT. YHTOT, YAT. AT produces WAT. Now Sankaracharya asks, the
HoJdet IJSCIA is associated with FARTH or ATFAH. IHJdet IJSCIH_ , that we are
discussing, is for the FTEIH or MEAA? So, when you talk about candidate, candidate
for ATTH of MTEAH? And he says, whenever we discuss Hee el TSCIH, primarily it is
associated with FTTH only. AAET FRAFRY is WTET TS Weot:. ARTET fAw:: is s
¥eA TFGH . ATET YA is AR, Not AFATT YA, Are you able to see the
difference? WATOT doesn’t give ®&N. Are you able to see the difference? WHTOT
doesn’t produce AY&IT. FATUT produces AA. And what produces HI&IT? A=A alone
produces A&, Therefore, AT YAYSTsT belongs to ARHA only. Therefore, primarily
HoJdet IJSCIH_ is connected with FATTH only. And FTeTH itself is produced by ATEH.
Therefore, EAH is connected to ATFTH, Therefore, Asfdetl TJCIH , through ATHTH
is connected to /AMEAH. So Therefore, Iefde¥r ISCIAH  directly belongs to FARTH. And
HoJdet IJSCIH_ indirectly belongs to AFFA. And thus, there is Ieldetr TqseIH  for
AAH also. HJdetr IJSCIH  for AFAH also. ARH is directly connected. ARFAH is
indirectly connected. Therefore, Sankaracharya says 9R#FGH0T. So YRFIHOT means
indirectly through JATeTH, the ATFAHA is associated with HeJde¥r ITIs<TH . Now look at
his aIFIH. T -AMFAA ook at the second line. ATRFAH here ATFT means ATFA THITH
gcg.. ATEA USUTH IRFGHT, indirectly, faflse dawer i@y yaiowaq safa. Is
indirectly associated with 3feldetr IsecdH . fafarse means unique. Unique efdey
adsedH. Sankaracharya mentions three of them 3f¥9a means fa¥dthe subject

matter. 9= means connection. 9AtsisTMeans benefit. Then the 4t one missing is
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If. That we have to supply. So QIEFH IRFIHTT, is only indirectly connected. Not
directly. And once you say indirectly connected the question will come? Through

what? Indirect connection must be through something. There is intermediary
required. And what is that? Jalsielad |14 3ffcTssrdedsT a. By way of generating
IfAeT=a1F here means generating. TUAH -WTUAH means AH here. By way of
generating ¥FT AWH, and which ¥FT FAWH is TASAad-which has got result
directly. So FF#H doesn’t directly produce the JaISTe. TEIH produces AH which
is directly connected with JaiSlel. Yalsiel means Iy IJseIA , Therefore,
YAISad. means WASl Afed, TS IFd. ATUA-HUA here means VFF ALH.
HHTSSIhcde. ATH IHeJde¥ Tdsedad, Hafd. So, in short ATETH doesn't directly
give any benefit to us. AMEAH produces knowledge. And through knowledge alone
we get S¥sIel. And from FateTe 31f8&R YT everything is connected. And if mTETH,
should produce ¥ FARTH- very interesting question. If MFA should produce ¥&T
ATH what should be the subject matter of AMEAH. One weeks’ time. I can give if
TEAH produces ¥FT AH what should be the subject matter of ATEAA? VFIH
Therefore, YT WIS AMEAH MEFH which is connected HFATIM the subject
matter called ¥&Im. So thus, what will be the sentence? Looks very complex, {ITETH.
connected with ¥FFH by producing ¥&g FAH give the AT, ATEIA with the subject
matter of ¥&FIm, by way of producing ¥ AH gives the benefit of A&, And
therefore, what is the bottom line/ IF# also has go elded Igsed indirectly. That
is all the message. MEAH has got HeJdetl TgeIH indirectly. ATH has got Hefedwtr

gqsedd  directly. Only note these two sentences.

Continuing,

% 71 WersHiaged, TR JAafge ARGl | TYUT @ TSI gauasiusd
RN | GTUTT: T |
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So, in the IeldeY ITSCIH the most important factor is YISt A. The benefit is the
most important factor in Anubhanda Chatustayam (AC). Because people are
interested in YA, only. TASAH IIferd o #A+ulsT gyaeid. Even the dullest
person, will not pursue something without a JASITH. YATSTA also will be dull
YaISIA. But he has an expectation. Therefore, always you have to mention Sa\S«#
. Therefore, Sankaracharya asks the question f& Uel: dd FAe=H, What is the
blessed benefit of aglear? gfe this is 3T Is mentioned by me. What is the benefit?
FqEYdT-abiding in our own, real nature, is the benefit. Abiding in our real nature. ¥@
means ¥T@&I. T means abiding. ¥ is abstract noun. Abidance in the ¥a&9. Fa&q

ITEYTH. ATeH fASST. Abidance in one’s own real nature is the benefit. Like what? He

gives an example. Just as a sick person, after taking the treatment, again abides in
his healthy nature. Just as by taking medicine, a person removes ill-health and by

way of removing ill health, he abides in his own healthy nature. That is the example.
IIMTET a-like a sick person. FGEYCT has got abidance in his own healthy nature.
And when does it happen? Ierfagat T, afer Fea#lt When the disease is removed

he is at ease with himself. And Sankaracharya deliberately chooses this example.
By treatment, both the doctor and medicine, remove only the ill health. They are not
giving us health. Neither the doctor produces health. Nor the medicine produces
health because health is the normal nature of a person. Therefore, medicine
doesn’t produce the benefit, because if it produces the benefit what will be the

problem? What is the problem? All these are, you are supposed to be senior

student. In Mundaka Bhashyam we saw Tqfder #3¥ . Let me see how far, you
remember? JTed: 3cufe; HEFR: and @FR: The fourfold ®# wel are generated by
HH. And if it is generated, it will be 3rfare. Similarly, if A& is also generated it will be
sfacd. Therefore, Sankaracharya wants to say ®Y&T is not generated by I3,

A& is not generated by AH. Then AT is our nature. And disease is caused by
ignorance. We are only removing the obstacles. We are not producing the benefit.

Therefore, the first part is example. TRMAET T -3a must be translated as F4T. So

just as a person abides in his nature by taking medicine, 4T -in fact after T@¥YdT FS
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should not be there. 4T -in the same way, what is our disease? And what is our real
nature? He says, 31@?8113: is our nature. Non-duality is our nature. And what is the
disease. If aa?:l?r is T@®T, what is the disease? aﬁa is the disease. He doesn’t say
HAR. He doesn’t use any word. Not even g:@+:. He says §aa# is UeT. Why? gfadiarea
Y Hrafd. IETATAL FId HA: JET 7Y 7afA.So gdd FaR:.gAafaghr: is the benefit of
the JAT 3H9E. So, the knowledge medicine doesn’t produce 31?.:3? Knowledge
medicine removes &dd. And what is the nature of gdd? §& Fa®Y gdd. And
therefore, every &R is afflicted by the g:® called gad. And §:& ¥cq gaa fadifar: is
the direct WasIa#. And indirect WaSI=1H is abidance as 3rgdd. So G ETcHRTY 3TcHeT:
for the SATEAT, who is now in the form of g:!ii‘. He doesn’t say endowed with g:!ii‘.
You take g:lif, and give hands and legs. That is Mr. So and so. So q:¥& 3cH®ET
means @ FEEIET. Here it is not &Y. @ fAfArsewy smenar: Sfarcar:. gda ya=g
392A when the entire a?:l?r is falsified. T@FYAT- this is reqularly proved. Regularly
proved when? g‘g‘?—ﬁ-in DSS there is no SN anxiety. No T%IT anxiety. In sushupti
we are all abiding. &dT T T&T @41 Hafa T 3rdiaY scar 9&1@. We saw in BegRyg
YSCTEAT. That is called ¥Fa¥Y«T. In positive language mafq‘r-rm: Y3TsteTd. The benefit
is abiding in non-duality.

3% Ui qUitg QUi qUiE=d |

quie qUIHTETT QUi RS I
3% grifer: wrifa: wwifa:
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003 - Introduction (cont’d)

Page 23, {ITs¥H second paragraph fourth line.

% qeaaEeHHfd, STad - IR AR TRICT, TYUT - AAFTHA gauaia=
TR, HGAUTT T |

Sankaracharya is introducing the 4 gerRoTIAY of GPA called ATOgaR U0, And when
we use the word HTUgeRI WahvUl it is a common name for both the IufAwg as well as
&1ReRT. Therefore, instead of saying ATUgeRT IufAwg, or ATUGRT HhIRekI, we use a
compound word ATIGeR YHIUH. The word Wavoi includes the IufAug as well as
&IReI. And this ®TOEERT Wawon{ which is a mixture of IufAwg and @IRe,
Sankaracharya introduces, pointing out that all the WeruT a=Ts are based on an
original ’MEA. That is why, a there is a definition for a weroT YT I have pointed out
on some occasions. AFAFEN HUF AT FRT=R TG, 31Tg: Taor A1 o= 9E
faaffya: so M= TR er WuE a WeRRUT T=AT doesn’t focus on entire &, Entire which
M ? AT M. But ATE Yehe T €U, It only focusses on one aspect or the other of
M. For example, ATUGERT WahiUI is concentrating only on the 31&d teaching. It
doesn’t dwell on @& @l which is part of IT& which doesn’t deal with I9rE= IRT so
many other topics covered in BS. BS is the whole 1%, The whole & is not covered.
Only a particular part of the &t SftarenT u=HATHT QaaH, Therefore, AT Yeha2l HUE,.
And = @raf=R /@, The function of the WeRROM is not giving the knowledge.
UeR?uTH only clarifies certain aspects of the &, And removes the doubts possible in
that particular part. 2t as a whole alone is meant to give the Tats=H, Therefore,
ATF UhIUTH is only assisting the & to do the job. And therefore, the function of
the T&RRUOTH is not the function of the AT, WRIOTH helps in clarifying the AR, M
helps in giving the WasH, Therefore, it is said to be e &Rf 3=k f&U - a function
which is other than the function of the &, That means a WeRIUTH assists the T
UehYUTH is an AT of the AMEL. The WATH of the 31€7H is not the WASHH of the
angi. Therefore, A& sraf~aR f&red amg: WaR?oT 9. And such a text is called WeRRoR, 7
=T 9¢. It is a type of text book. A type of composition. T=4 9&Hq bheda: means
varieties. A variety of 7=u1. faufgyar:.. The wise people declare so. And since 2
UhIU0TH is an 31T of the *ME, assisting the sastric function, the ac of the & and
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the ac of the WeR’UI is not separate at all. SISTHFUETT, HehRUE. And therefore,
Gaudapaada Acharya doesn't write anubhanda chatustaya, while writing the @TiResT
. Sankaracharya says, even though, Gaudapaada Acharya doesn’t write I the
commentator have the responsibility of introducing the anubhanda chatustaya.
And in the anubhanda chatustaya, the most important component is, S, What
is the benefit of the MFI? The direct benefit of the ME? The indirect benefit of the
"ehoTH will have to be mentioned. Because WatST=i¥ alone attracts a person towards
the text. WIS is the advertisement for the 2m&. And what is the weHS,
Sankaracharya introduces. Just as medicine removes the ill health and helps us
discover the health which is already our nature. A medicine removes the ill health
and help us not get the verb should be appropriate. Medicine doesn’t get us the
health. But helps us discover the health which is already our nature. In the e same
way, the TS I doesn’t give us A&, But removes what? The disease called &,
"R disease is removed. &aH disease is removed. When H§8R and gdaH are removed
31g&aH we don’t get. But 31gaH which is our nature, we discover. That is why in
English the word ‘discover’ is a beautiful word. Discover means it only disses the
cover. It only removes the obstacle. It doesn’t give anything new at all. Since #teT is
discovered as the nature, that ®terr will remain eternally. Therefore, he says, 3T
Rg=t aur A Teyar safa. aur dn Agst dadsa ey« wafa. Just as on the
elimination of the roga, the diseased person gets at the ease with himself. aur g4
g™ IUMM, you have to changes the order g Udsd IUMM AHTeH: TEYAET when the
&4 U9s™ goes away the 3MTedT, remains, in his own nature. What is the nature? 31gd
WY TEYEr wafd. And why should we remove the &d wasa? Because as long as &4
ugsd is there as real, 3TedT will not be WRHATAT. MTeHT will be g@TeHe SfiaTeHT.
Therefore, g @TeH&S Sfiarer: for the SfiaredT who is associated with g:@& how long?
As long as gd U4qsd is there. That g:@TeHeh Sfiaredt will abide in 31g« T@==d. So for this
DS gives a beautiful example. The more I see the universe, the picture of me from
the stand point of the universe, I am an insignificant one. When I see myself as a
member of the family, I will see myself as significant. And member of the humanity
my insignificance will become more. And when I see myself as one of the living
beings my insignificance will become sill worse. And when I look at the whole galaxy
and says among so many galaxies there is one galaxy. And in that there is one solar

system. In the solar system, there is one thing called earth. In the earth, there are
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several continents. One is Asia. There one country is India. There in state is TN.
There is one district is madras. And there one street. There in a house. There one
room. There I am occupying a corner. The more I see the vastness of the universe, I
will see myself as smaller and smaller and smaller. The sense of smallness is HER.
And when I dismiss the whole cosmos, and say that there is nothing else other than
myself. The smallness is replaced by the infinitude. Therefore, a® makes me small.
&d fAgft makes me all. So, smallness to all ness is #Y&fr. And the smallness will not
go away unless gd is eliminated. Therefore, he says, 3fgd ¥ma: So how many things
are there in the world I alone am there? What type of I? In the morning class. 31gH,
Qg QREAT 3MgH ST 31gH JulRed: 31gH paschat S1gH I<Rd:: 31gH afAIUra:: s1gH ua
3¢ §d. That alone will give me gufa. So he says 31&d ¥ma: non duality is the benefit.

Up to this we saw, in the last class.

Continuing,15.23

SAO= AfAepddigerdl agUH Widfd SeRd A dal g SRR had | 7 g
dfa yafa o3 aIfcd WRERISIaRAGAISAfgoHIN a3 I JdHAaT T &
URUTeh & faSTHT Saneyfaaiseier [ifg |

So now comes the question how can the TEF FATTH or 3TeH ATH remove FddH?

Because from our common experience no knowledge can eliminate something.
Knowledge has got the capacity to reveal a thing which exists. Knowledge doesn’t
have the capacity to eliminate something. How can you choose a revealing
knowledge to eliminate something? Carpet knowledge reveals the carpet
knowledge or eliminate carpet? Imagine if carpet knowledge eliminates the carpet,

as even you enter the hall. Carpet will go away. You look at the chair. Chair will go

away. It doesn’t happen at all. FYH AT ST AT $af. FAeleT TEAMY [ a7er; srafa.
HYUH gIaET AT HAFA? AT is always F GeldH. Not AT Berd. You take a treatment
course. Disease #Ter;, #afad or you take a knife and cur something that will get
destroyed. By action you destroy things. By JTe#H you can never destroy anything.
So how can 3gI=d ST+ A eliminate gda#? So this question can arise. What is our
answer? Yes, it is possible under certain conditions. Any JTeH will directly destroy
ignorance. JAGTH doesn’t destroy anything else. But JAH has the capacity to
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destroy ignorance. And then the JTeTH can destroy another thing also. If because of
ignorance, there are some false notions, born of ignorance, then the false notions
also will go away. Destroyed by whom? ATeIH doesn’t destroy false notion directly.
But what happens? When ignorance goes away, false notions automatically goes

away. Why? Ignorance is ®RUTH. False notions are HT4H. FHROT AT H1 ATeT: ded
sTTet 9€ AT, bacteria =112 disease =TT by what rule ?&RUT AT ST =TT So thus ATl
IAAA TeAf. FIETTd. Then &#: 3T AT, How? FIOT ATMTE. What FROT? (AT
SHTOT ATATC, AT HI T A AT, So this is a general rule. Therefore, AH destroys
2 things. One directly. Another indirectly. What is directly destroyed? 3faTeIH.
Indirectly destroyed & or 3r&qTd: and what is the well-known example? I v
AR, Too1: na 7RI, Nobody says To] REfA. T65 means rope. But by that 2 things
are destroyed. @Wmaﬁr. And 3TAT ST 9 which is called 3T€aTH or #H:
Therefore, €Y 3reard: @Y A, T 7Afd. Thus, knowledge can destroy, 3a=IH and
I JATTH can destroy 3AIH and 3. Then a person will ask. OK accepted.
A destroys IARTH and EATH:. How can FAH destroy §3a#? He says gda fagat.
And for that what is Shankaracharya'’s answer. My dear Mr. The whole g3 99 is
eI Whole a?l?-r:rq)—nr is eI [t is an erroneous perception. Therefore, it can be

destroyed by FEH. So GAAET IFEATH: FUcATe, Al AT HHATa.

Then what will be the next question? How do you say the whole a:a?-r is 3TEJTH? How
do you say the whole g3d - I can accept 3] |Y is HEATH: YfFd ToTd is LA and
how do you extrapolate from this, to the entire a??r 995d? Sankaracharya says,
T, JHTUTH. TFA reveals, that the entire gad T959 is an 3TEAR:; it is a #A: and it is
e e va HRET. YT o] TY; AT FTk AT, AT Frd AT, 4T YFT ol
Who says? IT& says. What better proof you want to show gda® is ##:? Therefore,
he says, very beautiful paragraph. Very tightly argued paragraph. a?:l?r CRES D2 )

3fagAT Faeard. The entire gdd a5+ is superimposed by 3fag@r. Then the next
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question is what 3rfagaT? Not make a general 3rfagar. o] a4 is born out of what
31fagAT a? Rope snake is born out of what ignorance? Rope ignorance. Shell silver is
born out of shell ignorance. gda@ W94 is born out of rope ignorance or shell
ignorance?. It is born out of sEATeH 3rfagaaAT. So HfAGHAT here means FEATH
rfae@ar. Which is otherwise called H@T 3rfaedr. So HaT 3fagAT Ffeard. Therefore,

rope snake will go away by rope knowledge. Shell silver will go by shell knowledge.

aﬁ?l?{ will go away not by rope knowledge or shell knowledge. It goes away by
FEATCH AAH. Therefore, he says, fae@ar -fag@ar means sEdTeA RAggaTy agques
T AGURAH; means Gad 3TH; FIT. 3 - 3far gar: w12 Rgam wrmer=m. To eliminate

snake, you have to reveal the rope. To eliminate the silver, our silver, you have to

reveal the shell. To eliminate gada#, you have to reveal, what? §&# 3TeAT. Thus, &
is the torch light, which the 3% uses, to reveal what? SEATH the frsa=. When the
HFASSI is known entire gda 994, is #fag srafdr. And the word &7 is a technical
word. I have used I this #ITsI#H class itself which is different from sITT. We don't talk
about gad ATer. But we talk about g3 #Td. 3 produces T, FARTH causes HTd. Fa
fafas amer; and s fafAw sa: are different. 1 have talked about this before. But

being very important I am repeating it. When &#T destroys the pot, I destroy the

pot. Pot is gone. And pot is absent after the destruction. You talk about the absence

of pot only after the act of destruction. That means, I will say pot is not there now.

And what does it mean by saying now I am admitting pot was there. And when &#T
destroys pot, I will say pot is not there now. So &®&T #ATel: makes me add the word
now. But when I negate the snake through 3eTH, when I negate the snake through

A, [ say the snake is absent. When? I don’t say now. If I say the snake is absent
now, it means I have not got knowledge. If I get knowledge my statement is snake

was, absent. Is absent. Will be anent. Therefore, in AT, IRTS e HTeT, 31T we talk
about. In T, T STl 3THTT we talk about. In T TRITS F1el, IRTST FHTel means
it is not here now. It will not be there in future but we don’t says ¥d HIel 3HIT;

because pot was there before. Therefore, HTd is AeTer 397Ta fATT: AT is TAATA FTeA,
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#fy F1er, 3r9Ma: That is called gAHTHIE: FAT causes GAATHIE; whereas FATH causes
farear sma; are you able to see the difference. Therefore, gda® will be sfae not @sea
. In the past present and future &ada# is not there. Then what is there? 3rgd<®.
Jedad is there. This is called ¥Ffa® fdg afafAcd. Therefore, aguemT; Farq sfar.
The word 392Md; means #HTd; not =T, HTd: ¥ 3fd - Therefore, gfd means gea¥f.

SEATAEAT IR, For the sublation. The English translation they use for #Td is
technical word. You don’t use the word destruction, elimination, or negation also.
Sometimes we use. In technical word coined in 3fgde emFa for the word #Td, the
English translation sublation. Snake is not destroyed. Snake is not negated. Snake is

not eliminated. Snake is sublated. that is the appropriate word. gfa - Therefore, &
faeam yrerE, for revealing SEA, 3¥T HRFH: 3FT means AVZFT THIOIET.
Hereafter when I use the word W&RTH you should understand as 3ufawg, + #1ReT
Y&IOTH. You should not ask whether it is 3Ufawg or FIR@T. YHIOHA means mixture.
IFs: fRFd. Now Sankaracharya quotes relevant #[fd @& to show 37T FTel

&AdaH. FAT HTel gdd 371G very important quotation ¥ f§ gd< g s1rafa. Where there

is the seeming presence of duality. Iva means seeming presence of duality. Once

you say is seeming it means it is a notion, not real. I have given you example. You

are seemingly intelligent means, so it is not glorification. It is criticism. So aﬁa'a{sa
s1afd. This is one quotation. Then I aT AT 39 - wherever there is something
appearing as it were. So, the sub-commentators use the word I f§ a??-r g9 Hafa
reveals 3rdTEdT: I a1 AT §9 H=dl=g 92IfA is ATEA: if you can remember
what is 3r4TEITE: and ATIEATH based on the fadasia afa discussion of VS it is

fine. If you done know the difference doesn’t matter 3=Id $d TIT 3o HedTd T
. A person seemingly experiences. perceives duality. Seemingly knows duality. So

here the word yatra means what? 37faeaT 3/a€UTT. Whereas the 39fawg itself says
I IT 3T TS HTeAT 3737, FAGAT ITEAT, AAGEAT, what is there?/ ¥ e 3737
Everything is nothing but 3TeAT. Again c/o BTeaITY 3 TaGAT AT JIEAT. AT

TR ITCHT IAIOTA: etc. WA ATeAT M. A el & TeAA? Which person with what
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instrument will perceive what object? Who will perceive what with what? Who

represents the @dr. Will perceive what refers to object. With what refers to

instrument. Therefore, subject is negated with &: with &, object is negated. e
instrument is negated. Subject object instrument all of them are negated by asking

the question who will see what, with what? And these are not questions. 3mmaTaref f?
Who will perceive is not a question. Nobody will perceive in JATTG¥AT a second thing.
L1214 gﬁrﬁr:.and reference nos are given. Brihadaranyaka second one also
Brihadaranyaka, the third one is gaTaR¥ 3ufave, So FeaTle AfAsA: From these #fa
statements mmﬁaﬁr: this idea is established. And once I say this idea you
should ask what idea? Entire a?:lr-n{ is 3TEIN: Therefore, it can be eliminated by
knowledge. gda®a Irearacard A=ia fagfy, &w@fa. That is the message qdawd
FEATHATd, Aleiet ﬁqﬁ; @aafa. And therefore, also, Sankaracharya is indirectly
refuting JTeT HAT A8 d1c: JATT ATAV rope snake can be eliminated sublated let
me use that word. Rope snake can be sublated by mere knowledge. After JTSIH you

need not take a stick and beat the snake. mmﬁﬁqﬁf

continuing.

a7 dIAG PRI YYH

THRUHNHY YA AUgURYdY | 99 gavuIu=s sgavfauf veard
quife frpeura=m Isaxaufautty, T fava eqal daadfaurer fgdta yewong | aur

SAGAIY FTAYIFUT, GirTadTayiadTe-a oiid UHon | fgasd
ayTaufauRifduen@f @ify areraRvaafds af, dumaafaRiftaeaurdas
dguutaiiRg ARz g gewony Il

So, the 37eJaetr TSI consist of FTAFRY w7 yAlreT and Ha=Hr. CBSC. Candidate

benefit subject matter and connection. Of these 4 3elde¥l - 3eJdetl TJSCIH 2 of

them are the most important ones. Therefore, Sankaracharya deals with only two

of them &Y and yAS=IA. FfASRT and TG he doesn’t mention. But we can

guess. How we can we guess? IfFRY is whoever wants RY&T is the TR
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Because the benefit being A&, ¥R ﬁlﬂﬁf Whoever is interested in the benefit is
the 3% Y. That we can know by 3r4TafY or 3TATETA, Then W also has been
indicated by the T ATH. §dd goes away. Hgdd HIT WANSI=TH comes. Therefore,
between AH and the WASH, the W= is what? Cause effect Hawtl. FF FROT
F9Y. Or Sed Sd® WY, AWH is Slelh#H. AT is =g Producer produced
connection also has been indirectly pointed out. Thus, fJd¥&r Sankaracharya wants
to focus on. Until now he has talked about &% generally as s&H or 3@? By
using the word s fagdT Y1 he has indicated the subject matter as s&#s1. So

§eHA which is the a@aa}—c_f' is the subject matter. Then the next question is, if siE#e]
is only one subject matter why should you have 4 chapters? And therefore, he wants

to talk about the general subject matter is ¥&#s1. The specific subject matter of each
9hI0TH. In each chapter. He wants to mention. 3T Y&IOTH is the first chapter
dae 90TH is the second chapter. 3gdd WaRUTA and 3raTaenfed the very title
reveals the subject matter. 3FTH YHIOTH is ATTH FUTAH. The subject matter is
ATZEFY 3ufavg, dqeT T deal with 3929.31g3d TaOTA deals with 3rgdad. So

that is what he is going to clarify now.

aF -among the 4 chapters. TqY THIOIY HEY —fAUROT Foaa. ATEdT- TIHA, TIH THI0T
R fAvT:. AFR, analysis. ¥ 9HI0TA. Is the first chapter. So the first chapter is
meant for 3R analysis. Then the Y&IOTA must be titled 3R YHIOTH. Then why
do you call it 3TTH YHIOTA? Sankaracharya says &K analysis is done with the
help of the 3ufa¥g. GPA doesn’t independently do that. He does HIFR analysis by
way of analyzing the 3qfatwg, And 3qfawg is part of a&T. And aaT is known by another
name 3TITH: So, the word 3THA can refer to non-vedic literature also. When it is
referring to &sora 3mere, & 3TerA etc. In that context, the word 3T is Ffa I1=2: All
oo ATEATTOT are called 3T, &ﬁﬁ'{m also is called 3TITHA. ATeFA ATMH. Thus, the word
ATIA can refer to non-vedic literature also. The word 3TTHA can be used for Vedic

literature also. Here the word 3T is in the sense of the dgT. ATUgEy 3ufave,
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Therefore, he says, 3TRIH FHTH, the first chapter is 39fa¥e TerTe. daT TUTe. 3METH
THT. then the next question is why do you call it 3TITH T¥TTH? No word is taken for
granted. Because the first chapter is not only 39fet¥g, Therefore, you can't say the
first chapter is 39fa¥g, Because the first chapter is a mixture of 39feryg and FHIRT.
Both of them are there in the first chapter. Of these, both components, 3ufawg
component and &TR&T component, between these two, which one is ﬁ@? And
which one is 313317 Sankaracharya says, in the first chapter 39fawg is the leader.
GPA is only a humble, simple 37$eT: He projects the 39fa¥g and GPA stands behind

the 3ufawg. Like an obedient servant of the a&T. But when the second chapter
comes, GPA becomes prominent. So, to indicate the subservience of GPA and

prominence of the 39fai¥g, the first chapter is titled 3T WIOTH. Therefore, he

says, TTH TTAH THIOTH, ITITH YHIOTH. ALIA Ug o9 ATE:. Then what will be the

next question? Everything you raise a question and answer. What is the next

question? Sub commentators use this method only. I will just try this method for

some time. What is the next question? You said 39fa¥g is meant for revealing S&.
And you say now I am going to bring 3T the 39fatwg which is going to analyse
HHR. When we are interested in ¥&H FAHA why are you bringing in 3ff®R? What I
want is €A, What you are talking about is 3fiR? Why are you talking about 3i&T,
when I am interested in s&H ATTH? Sankaracharya says I know you will ask this
question, if you are an observant student. The answer is, 3ift&R has been talked
about as a means of knowing §&#s. Therefore, 3it®K is relevant. Therefore, he says
3TeR dea gfaufer 3urr o, AFR analysis is a means to know, 3Ted ded or FEH ded.
And therefore, first chapter deals with 39fa¥g. 39fawg deals with Af®R. And JteR
deals with §&#T. And therefore, 3RTH YEHOTH, JHIHR THIOTH. FEH THIOIH it tallies
very well. So then, the next question is if the entire first chapter gives ¥&d FTsTH, why
should we study, second chapter? That he says, ¥4 a?l?-r YUsaEd 39AA 31@3
yfaafer. g&A« will be understood as 31gdd#, only when the g3d# is negated through
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knowledge. Mere S&H AH will not give AT, FEH AAH is AH only when you
know SEA is 3gddd. And FEA's Ngda# status will come only when gdd is
deliberately negated. In the first chapter 3/gdd, is revealed. gd is not deliberately
negated. There are indications of afq‘?r negation. Like Y9 39MHAHA etc. They are
negated indirectly. Indirect negation of afq‘?ﬂ:[will not be powerful enough, only
direct negation of gdd# is powerful. Therefore, 3rgda fgead gda must be negated,
consciously. I am 3TeAT is not enough? Every problem that family gives, every
problem that the relationship gives. I should see every problem as f&24r. Deliberate

perception of fATaTed ofaﬁ?n{in general and every problem. Body as we grow old,
body will give more and more problem. Thus, whatever gives problem, I should be
able to see its f&2aTed. Otherwise ATEAT will also be there. And problems also will co-
exist. Previously I say, as husband I have problem. As wife, I have problem. Now I

will say, as ATeAT I have problem. We will only change the word. I will continue to say
there are problems. Problem f&earea g2f=i# is compulsory for ®1&TT. Therefore, daeg
YhIOTH is meant for that purpose. Therefore, he says, maﬁawmm So, in
the 399MA- what is the correct translation? Sublation. In the sublation of the a?:l?r
Y94 alone, so Afa @Y. In the sublation of gda Y954, rgda wfaufa; I will
understand, sigHs], myself as non-dual i&d«. There is no second source of problem.

o fa9fa Faewafd. When Isay I have problem, I have to name the problem. And as

long as I name the problem, I will say I have problem. Therefore, naming of the
problem should go away. And how will it go away? By saying, there is no second

thing, which I can call problem. There is no second thing, which I can call as

problem. Only when I do that, I can say, I am #&d: Therefore, 31?@? gfarafa: ¥, 1
will recognise myself as second less one. Sanskrit students, aaja?rm long et is
written because of &f® rule. If you split the & it must be gfaafar: short far and st
That problematic 3a# must be deliberately negated so #alY g5f&r g+ R v
HATAT. In my language 99 3dTcAT must be negated. Only then Ha?l?r faefar will

come. So, first chapter focusses on 3rgad #H. Second chapter focusses on gdd
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fagf: and what is the example? T &9 fagfar: is the example. The details we will

see in the next class.
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004 - Introduction (Cont’d)

Page 24, bhashyam 2" para

AR A SRR [RYH YRARUTHTURYT ATdHAdaaURaOagurad | a9g gaauRusETaassls
Zaufauht seaifAa guiRfaecaiam oawufauftaw awa aqat dawmfauear Zdd

U |

Sankaracharya as an introduction to the ATUgeRI WU is presenting the e+
agead, of the MET; of that two Ia=dT: are being enumerated. They are fawa and
uatsr. JfdRYT and Ha=4 are not mentioned. We have to assume them. Of these 2
ygisHIA has been mentioned as abiding in one’s own 3gd &%, just as by
eliminating disease a person abides in his own healthy nature. Similarly, by
negating ¥ has to abide in one’s own 31&d T&==4 that has been called #af that is
the WSTH. Then what is the fas=r or the subject matter, is the question. That he has
indicated in general as 31&«¥ SIg] or 3T&« THT is subject matter, which happens to
be one’s own real nature. So 31&d Sg[eH WY is the subject matter of the entire
AvgeR. And having presented the general subject matter as #gF, now
Sankaracharya has come to the specific subject matter of each wer’o™, Of them
the first chapter has been already mentioned. It is called 3TRTH Ueh?UH because the
IufAwg otherwise called 3T or & plays a prominent role in the first chapter. In
the later three chapters 3ufA®g doesn’t come. Only in the first chapter it comes. And
the IufAwg plays dominant role GPA plays only subservient role. Therefore, it is
SRTH U WehUR, HeOH ST THTHT. TTH WTUhRUTH, 3RTH WehUR, N =a<l=
Sufwg=Aroger IufAug, And through the IufAwe: Sankaracharya says SfieR
analysis is done. And through 3fihR analysis TeHT ¥&a==U is revealed. So this the
subject matter of first chapter consisting of 12 #=a1:/ and 29 PIR®I.

And thereafter he is now sumamrising the second chapter. In the first chapter SredT
the g¥Ha™ is revealed as 31, If S1TeHT is revealed as 31ga#, then what about the
status of 3HTeHT? Because if 39ITedT is included, S1TedT will not be 31&a™, There will be
&a¥ duality. So naturally the question comes, when 3FTeHT is there how can you say,
STeHT is 3Tga¥? You cannot say S1HITedT is absent. Why? Because we are experiencing
through all the sense organs. Why sense organs? All s#TonA reveal SHTeHT.
Therefore, you cannot say 3fHITeHT is absent because FYIAATAAT, You cannot say
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SHTeHT is present, why? Then there will be ga#, Therefore, what is the status of
STHTHT must be discussed. The first chapter doesn’t discuss the status of STHTeHTI.
First chapter only says 31TeHT is 31&d™, The status of 3FTeHT is not explicitly discussed.
And therefore, we have to analyse and come to the unique status of SfHTeHT. It is not
absent, because it is experienced. It is not present; then there will be duality.
Neither absent nor is it present. Therefore, Sgagai sifAd=a=iid. It comes under a
third category. What is that? Neither non-existent nor existent. Then what is it?
Seemingly existent category. And by seemingly existent what do we mean?
Available for experience. But doesn’t have an existence of its own. And therefore, it
is called f2am. And for the word f2ar several other Sanskrit words are there. One
word is 3JaH, Another word is faa¥. So e, sraH, fAaY etc. are synonymous.
Revealing the intermediary status of 3FTeHI. And the second chapter uses the word
ey, Red agan da; sifdaur ga «@féyar: faau: or fdaus, And faad means . That
is unreal. And its abstract noun is da2a®, fd@d means unreal. daw@y, means
unreality. So, the second chapter focusses on the unreality status of 3TeHT or STHTHT
? Or you awake? 3FITeHI. Therefore, SFTeHT: Zd U ddawfaure uehrom fEdd
establishing the unreality of the 3FTeHT the & W9sH is the subject matter. And
therefore, it is called ad2 UehRUTH, Again, X U YA, If you take it as dd
"UehvuTH directly it will mean WarRom is frear. Therefore, you should take it as #ieaH ug
daw gfiure UM, a9 TR, HeaH Ug A9SHET. Like head ache pill. Head ache
pill can be anything. Can be anything- are you getting it? It can be a pill that, causes
head ache or removes head ache. Therefore, you should say #ea¥ 9g g SHIEH,
Removing pill head ache pill. The word removing must be part of the compound.
But it is dropped. Because we will understand in the context. Whenever a word is
dropped from the compound in Sanskrit it is called #eO" Ug &9 THTET. So da
ufaard UehRvorH a2l Ui and that is said here. And in the second chapter GPA
takes the well-known example of W Wusd because the dream is the best and
universal experience to understand fAear. @@ has given two important
experiences. One is dream another deep sleep state (DSS). Both of them are not
only useful for physical and mental health. But dream and DSS are very, very useful
for orgd A, The dream serves an example for 2d fAars. DSS serves as an
example for 31gd T¥uw. Remember of the 6t" chapter of ®T&l4. Sleep is taken T
g de1 U=t yafa @adiat vafa qam"wafdicarasad || ? || thus dream is an
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example for unreality of Za# sleep is example for real 31&a¥ nature of oneself. So,

GPA uses dream example.

Now here Sankaracharya gives the well-known rope snake example. We saw in the
class. a9 S UM on the negation of & as f&2ar. For U™ I gave you a special
English word. Sublation. It is a very, very profound with a special meaning. I don’t
want to repeat it. Better you should remember the word sublation. It is a very, very
special Vedantic word. Za Udsa¥g 392 on the sublation of &a¥, srga ufaufA: smafa
. There is the knowledge of myself as non-dual. Like what? Issar@a quif feea
Ium. By taking a torch light when you light up the rope, then what happens? (1)
Two things happen; all the misperceptions resolve. (2) And parallelly, they are two
sides of the coin. Resolution of 24Tt and the revelation of &&. They are like the two
sides of the coin you cannot say which causes which. Because of revelation f2ar is
resolved. Because of resolution e is revealed. Both are simultaneous. Therefore,
3rga ufaufv; ova guffe fdeea Iua@. fAaea; means superimposition. & means
snake. 31f& means etc. Misconceptions are always many. Therefore, 3us® afa-afa
ot Toq ava ufauf a So, just as we know the non-dual rope, in the same way
one has to sublate ga#, In the first chapter &a¥ is sublated, with the help of sffa-
uHToi. And what is the sffer arers yasa IumH, sffar o=Toi sublates &a#, in the first
chapter. In the second chapter, gf% wamoi is used for sublation. Therefore,
Sankaracharya says &qdT; so gddl;, means by reasoning with the help of @ ger=T
and two important reasonings are given we will see that in the second chapter. One
8d is 3T, ga¥ A geurd, ©@W &dad, Very simple. SR ga fAear. Why?
Because you are seeing. What a logic? &a¥ is unreal. Why? You are seeing it. 31g&a®
is & because you don't see it. Because you are the seer 31g&d#, So gaH is unreal.
Because you see it. Like what? ®&awad, This is reason no.1 24« g¢q; and the second
reason is AT STea~drd, SIRI W9 is @24 because it arrives and departs.
When does it arrive? During ST, 31a¥d1. When does it depart? During the other
two. So Therefore, ST U9s¥ is subject to arrival and departure. Therefore, it is
farear. Like what? Same ¥aw wasdad which is subject to arrival and departure. What
is the second reason? RTH AR, STed~ddTd, SfAcdard, any one word you can
take. That is here called &gar; aa2a uffuresa - to establish the unreality of the &a
ugs, fg<d weom, the second chapter is dedicated which is full of only GPA @TiResT
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. 38 verses. Up to this we saw in the last class.

Continuing.

AUTZAY daavaFyTE! gfaaeaurasg = o veawon|

So, the third chapter is dedicated to negate the possible objection. If & is fAr,
then extrapolating the same, 1&g« also . Like the 3= a1& who says, objectives
also f2ar. The observed is also f2ar. The observer is also f2ar. And he has to give
some reason or the other. He may give the reason. What? You can imagine any
reason. 3ig«d A, dg ufaueranq, d< ufduer gawrd, Just as the ga¥ which is talked
about in the gd &10e &# &10E you say fA=al. Then 31&d is also faear. It is revealed by
a<1. Because both are revealed by a<r if ag ufduer a9 is the fAear then dg ufauer
31gd also is T he may argue. And therefore, in the third chapter by logical
reasoning GPA establishes e1gd is @«d. And what is the well-known argument to
establish that? It is not given here. But we give a well-known argument. It is worth

noting registering, remembering.

Whenever we talk about f&2ar our experience is a f2ar; doesn’t exist without a
fds= which is &, What is the example? Rope-snake requires rope-3fasm.
Mirage water requires sand 3fsM. Shell silver requires shell-3fas™. Dream
requires waker-3fOsH. a3 g9 feard, a9 a1 g&@-#fd8™. So, you cannot say
everything is f2am because without a Eea-3fB™ you cannot talk about f&2ar and
Tg-AfABH we say is 3gd. And therefore, you cannot say fasM-3igd is frear
Then even if you say sifas™-31gd is AT, then what will be the question for that?
You require some other 3f8H. If you say ‘X’ is fd8H, then I will say that is called
AfsE-31gd. Therefore, &4 AT or [ a1% is illogical. € freare or =T a1g is
illogical. Because you require §g-3faBH; because it is based on logic. And
therefore, 31gd is @, That is said here. a4t - 4T means extending the 2" chapter
AR daQ UHSIT urEt. When the T arél claims g #fABM also fAear, sfa
UHST UTGAT - UEST Ul means €T TGt Then such a doubt or objection arises
‘g‘%ﬁ: derew &=fa1. We have to carefully note. First chapter stablishes or
establishes 81g&d through sffa sHTOi. Third chapter reveals 31gd through gfts wsTUi.
Thus, both second and third chapters are gfvk w#aToi. gfth means logic. 2" chapter
logically reveals unreality of 81FTeHT. Third chapter logically establishes reality of
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TeHL. So gfvhd: auTae = - aurae=m means gea@ gfFar. gdid wawom, OK,

then what is the content of the 4" chapter. That is said. We will read.

Iga  aurceHfauiufduaaa g aRRvgdeaor  dumRRIfaRIfSareaurdeT
dJguuiifeRa AR agef veor |

So, the 4t chapter concentrates on refutation of all the non-Vedantic schools of
thought. Because only when the other schools are refuted, our conviction in 3tge
will get stronger. Otherwise we will always think this is one of the possible &2f=#, We
will not have strong hold on that. Therefore, we always insist that the study should
involve not only the understanding of d&r=r. It always involves the refutation of
other systems which is called ¥yro] fA=a==1 =ATa: "=+ is called ¥m9] Arg==1 <T4:
Suppose you fix poles so that you can tie clothes line. gieflevw smw eweusisnzi%e you
use that Gsmyg. So, for that what do you require? 2 poles. And after fixing the poles
strongly then alone you can tie the string. If the poles are weak and you put wet
clothes on the thread, the pole will give way and clothes will fall down. And you will
have again to do the washing. Therefore, not only you fix the pole and thereafter
shake the pole for what purpose? To make sure that the pole will not be shaken by
the wind or anything. Therefore, you have to make the poles strong; not only fix the
pole. You have to make it unshakeable. And you yourself shake it and see, and if it is
shaking what will you do? Put some more stones around, try shaking. Therefore,
fixing includes shaking and making sure that it is unshakeable. Only then the
clothes line will serve the purpose. Similarly, our tradition says, a&r=T can be used in
your life, like a clothesline, @&t can be used in your life, only when it is fixed
strongly in your mind. And strong fixation includes, un-shakeability. Un-
shakeability. I don’t know whether this is English word. Non-shakeability in the case
of pole it is by the hand. In the case of knowledge, un-shakeability by other schools
of thought. And before they come and shake what do we do? Just as we ourselves
try, the study includes trying to shake d&r=T by other systems like ETgT, bt ™
aifderr Za fafrerdd. We should try all others and see. Whether my #=H is
shakeable. And therefore, refutation of other systems is in integral part of 3T+ @\,
9 g consists of three exercises. $IGU is fixing the d&AT pole. 4+ is trying to
shake d&raT by bringing the objections raised by other schools of thought. And I
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should be able to push aside all of them and stand firm in my conviction. Therefore,
refutation is not a wrong thing. You need not talk to them and refute. That is not
required. But within our own mind we have to rise and refute which is compulsory.
And then fAféeara= is refutation of our own past habits. In the form of I am aTEtsg.
&rEIsg habit must be replaced by &tsg habit. Which is a very disturbing proposition;
many people are such great devotees; where the very 9ifeh becomes obstacle to
=¥, Hfvh should promote I=H, But Hfxk will become an obstacle, if &rEtsg doesn’t
allow me to get established in @sg. And therefore, we have to go from Za-¥fwh to
312d-AH, That is what Lord Krishna said in the BG; dui s+t fagqr g=h: ga-ufwh
fafarsa. gas-ufth means a W=k in which duality is absent. Any way they are all aside
notes. Not said in the ¥Tsd. Sankaracharya hints at that. 3r&a<a aure ufaasr ya=.
dUTeaH, means d«; the validity, the authenticity of srgd &=f¥, wfaafst means
conviction. And for that conviction ufaasr sfamf, all = including ga 3,
Varieties of Za gfFfa are there. In BS second chapter 9ta 2= were refuted and
also dwrg &2f=H, All of them; all the 3 &=fFf are &d. All 3 &=ff are &d. In
BS, Vyasacharya relentlessly refutes all of them. Why? Because they are all
obstacles to 31gd-assimilation. uRfdgar means obstacles or enemies. aRfausr sfarf
gifa argr=aRIfor - all schools of thought in the 4t chapter |Tg=dT, alT are refuted
g1, aAf¥enT are refuted g A4 is refuted. All of them are refuted. Iif arer=a=Ifo.
arE=RIv means schools of thought. And all of them are what? 3raféamf. They are
all 9% fa¥g. And all of them raise a very big question. How do you say 3T is talking
about 31gd when dggqd T is talking about &« and g/RAIsg? How do you say & is
3rdfeen? For that GPA answers, d&T teaches Zd only as a stepping stone. Not as the
ultimate reality. @& discusses &sg not as the ultimate reality but only as a
stepping stone. Thus, ATUgeR WU is very powerful and all those people who have
got traces of gd, they all will be disturbed. Therefore, I had given the warning in
HIuge™ moolam class. I will give the warning in the Mandukya Bhashyam class
also. Because ATOga will appear a threat to Yfeh. AToga™ will appear a threat to wf<h
because it refutes &/ Etsg philosophy. And therefore, 31af&erIf; they are non- vedic.
dur st faRfAemg, Sankaracharya says, I need not refute them because %
Su=~ama. I have talked about this sometime before; they themselves fight with
each other and help us. == faRHAwTg - srEauTd@s means AT they all are
fA=ar. Unreal. And therefore, aguafeika with the help of their own reasoning. So,
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Dayananda Swami jocularly says, when you have got a very powerful opponent, you
should not try to fight him with the help of a stick. You think that with the help of the

stick you can beat him. You know what happens if you meet a strong opponent.

The first thing he will do is take your own stick from your own hand, he will give left
and right. You may wonder if I had gone empty handed; I will get bows with his
hand. Now I took stick and got attacked with the stick. Similarly all the other schools
come with logical reasoning and powerful 3tgei=: uses their own logic, and refutes
their own conclusion. No Vedantic reasoning. Their own reasoning we use that is
what is said here. aguafaf¥:; ga gaufar gfisfa: ga Aresoma for refutation-all this
we get in BS second chapter, second section. 2-2. ag¥ Waworq, So with this he has
given a broad outline of all the 4 chapters. Up to this is general introduction to all
the 4 chapters of #TogaR. Now starts specific introduction to the first chapter. So

before entering the first chapter he gives a specific introduction. We will read.

o TIRIGHRMAT SfeHdraufagure nfauerd scgead - “SifAddd (.3, 2|3 3"

QAT (oh.3.) Tdg Tk (U, I} AT gosita(d3g)” sifafa sgr sitgar gas ad sant
gfaea: |

So, in the previous general introduction Sankaracharya mentioned the subject
matter of the first chapter. And there Sankaracharya said in the first chapter
through #TogeR IufAug sfieR: analysis is done. And through 3ffeR: analysis 3Ted T is
revealed. Now a student is asking the question, how 3ffaR: analysis can help us in
self-knowledge. After all, 3ffehRR: is a word or a syllable. And by analysing a word
which is outside, how can I get the knowledge of 3iTeHT which is inside. What is the
connection between 3ffhR: and ST a person may wonder? And for that
Sankaracharya says @I itself answers this question. daT itself answers this
question, in several ufAugs. What is the Vedic answer? 3ff&R: can be used as a
means to understand the 3TedT. 3ffehR: can be used as a means to understand the
3TeHT. Which we will be elaborately seeing in the IufAsg by going to 3R. 3R to
IhR. IFR to AGRR. AGFR to silence. When you come to the silence the 4" quarter of
3ffehR: we are in consciousness principle. Thus, $ff&R: analysis will help. And not
only that. Elsewhere it is an aid. 3ffehRR: can be used as a symbol also, for meditating
on SIg[H. Both &ui s1g] and Aol sIgT can be used, can be meditated upon by using
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3ffeR: as a symbol. Thus, 8ff&R: is a word also. 3ieR: is a symbol also. Normally
words are not symbols. Symbols are not words. Rama Krishna Vishnu etc. They are
words but they are not symbols. enferm, faraferg flame w@sGumg- turmeric power
etc. are symbols. They are not words. Generally, words are not symbols. Symbols
are not words. Whereas 3ffeR: is the most unique one, which can serve as word
also, which can serve as a symbol also. Thus, it is very, very useful in knowing what?
i g, In knowing Ui s1&T. In meditating upon &R[UT sIg]. For the meditation of
ffui 181, Thus, sifeR: can be used in several ways. It is the most versatile &=
available in the entire Vedic literature. And the versatility of effehRR: is said in several
#==AT:s. That is said here. &% g: how indeed, sfieR: fAofa:; the analysis of sfi&R;,
3MTeH dd ufauaequraed. Becomes a means of knowing the 3fTedT. How can 3if&R:
analysis ever become the means of knowing the airedr. gfa - gfa means if such a
question is asked, 3= the reply is given. How? By quoting the a&r #=41T. So, the first
one Om iti etat - I am not going to elaborate because most of them are taken from
Iufugs we have studied. So if I am going to explain each &=, we will not move
forward at all. If you are interested in detail you have to refer back to the IufAugjc
notes or memory whichever is available. If you say both are not available, my
prayers are there for you. Therefore, 3 g@dd - &6 IUfUE, 1-2-15. Teld HTTEAH,
again KU 1-2-17. &5 means symbol 3fi&R: is symbol. In Sanskrit, it is called
Uefteh. Then the next one is Qg <dehTd. U8l IufAug, The chapter 2" #=41. The entire
5th chapter is $ffepR: AR in gsifafAug, Both WUT ea™H as well as fAjor e, So,
the word §&& is the name of the student in agifafAwg, The name of the T is

foroee:

Then the next quotation 3 gfa siTedT= gosftd. More explicit. With the help of 3ifeR:
#-AT may you fix your mind on 31redT. #3ft 3ufwg 6t chapter 3 section. And it comes
in AT TRTAYT IUfAug also towards the end.

Then the next quotation is 3 gfa sigy, Afedia IufAug,

Then SiehR:: U 367 HdH, BIERY IafAwg 2-23-3. Second chapter 231 section, 3 =T
. Ityadi sffasa: from all these sffa arer®, the sentence is completed. Sanskrit

students should connect it with the previous sentence sfieRr: fAvfa: erewa
ufaaegqurae ufduerd because of these ®#=4T: we know that 3ff&R: can be used for
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knowing the 3fTedT. And if you are still not clear, when we study the ATogeRT IufAug
we will get the details in the first #=T itself 3ffehR: is introduced.

And then 8t, 9, 10 11 and 12. Last 5 #dT: First =T and last 5 #=3T: the IUfug itself
shows how &fifehRR: can take us to silence consciousness. Silence consciousness is
called 3. TSR, Srecagrd . uu—atum: fAa: srdd: gd ifeR: 3redd. We will see
the details there.

And hereafter he wants to give the specific introduction to the first #=T; how he
gradually focusses. Like in cricket match the whole field will be shown. Then the
players will be shown; then the bowler, his face with the rising eyes that Muttiah
Muralidharan you should see. Therefore, we will focus. Similarly, here also at first,
he focussed on the entire 4 W&, Then he came to first WeROM; that is this
paragraph. Now he gives specific introduction to first #=IT 3 Fedd &R 3¢ Td.
Ityetat aksharam %&® &d¥, The whole creation is $ffR:. How? He wants to

introduce that, which we will see in the next class.

3> quire: quiftid guriq yuige=ad |
me I
3 wifd: wifa: whifar o
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005 - Introduction (cont’d)

Page 25, bhashyam 3 line.

&Y gRIgeRMARE sierawamfausguras ufadgerd sfa, Ssod — ‘siifacdad’ (+.3. 2 1213%)
‘TdeTei == H’ (h. 3. 2 1R 1 %9) ‘Udg G R ITWR o Jg] JelgahR: |

g gFa T Hdazaia’ (7. 3. « | *) ‘ifAare gosita’ (1. vR) ‘sifafa sgy’ (4. 3. 21
¢ 1?) ‘sitgehR Uas 9dy’ (1. 3. ? 123 | 3) saarfesyfasa: |

In the previous portion of the introduction, 3R introduced the entire ATogET
UehRUTH as a whole and gave a bird’s eye view of the subject matter discussed in
each chapter. And then in this paragraph which we read now, Sankaracharya is
specifically introducing the first chapter in which 3ffeeR analysis is done as a means
of recognizing the 3TeAT. And therefore, Sankaracharya raised a question ~ what is
the connection between &ffeR analysis and self- knowledge. And for that
Sankaracharya gave only I WHT10i in almost all the 3ufAugs iR is presented as
means of knowing the 3fTeHT, means of meditating upon the 3iTedT also And
therefore, by way of sffeR analysis self-knowledge is possible. And in the very
AIUgERISUfAug that is going to be demonstrated. Therefore, geaf& sjfasar; based on

the sruti quotations given above. The sentence is complete we have to add 3ffeR
fofa:; sreraaufaueguraw ufduerd Therefore, iR can lead us to the 3fTedT. So,
with this specific introduction to the first chapter is also over. Now in the following
paragraphs Sankaracharya gives introduction of the first #=T of the JufAug, The
first @==AT introduces MR as everything. And thereafter 3ffehR analysis will be done
in 74T 8 to 12. First A=AAT is introduction to 3fieR analysis. But the actual analysis will
be done from the 8t =T Up to 12t #==T. Thus 1,8,9,0,11,12; 6 A=ATs deals with iR
analysis. There the IufAug says, especially in the first @1, iR is everything
A 31erk 5§ €d. The whole creation is nothing but the 3ffeR with only syllable.
Ekam 31&R¥{ means a word consisting of only one syllables the whole creation is
that. Naturally the question will be, how a mere word can and that too a word with
one syllable be taken as the entire creation/ it is not clear or explicit. Therefore,
Sankaracharya feels it requires an explanation. And for that, he is introducing a
very, significant and unique discussion, which is relevant to #TogeR only. We will

enter into that.
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ToaifeRa Tuife fAemcumarmcglisga omcar uzane: gumunfefdeheuuraaet gur dur gaisfy
RIS AUl TcH Ahed 6 $ghR T | § IHEawUHd dafHeRehdrd |

So, in this portion Sankaracharya presents an idea which we already know from
the study of other 3ufAugs. Therefore, Sankaracharya takes it for granted. What is
that idea? 3ITeHT HedT: 3HTeH U9=d: fA2ar. That he takes it for granted and says, S{TedT
the da=d is the Sifd8™ and upon that SffRB SfIedT the entire universe is
superimposed. And the universe he defines as wronfe faeea fawa: the word wmor
means fgruamef: because fgroamsf is the first creation. And therefore, he uses the
word umonfe. umonfé means the universe beginning with f@voaarf. And the word
f@&ea means superimposition or adhyasa. Thus, the entire universe which is an
adhyasa, is supported by STeHT. How? You are supposed to know. Because we are in
the 6th Iufwg, Therefore, we are supposed to remember that basics. And to show
that 3fTedT is the 3IfEBM™ of the entire universe, generally we give the example of
rope-snake. So, he says, it is exactly like the rope is the 31féB™ for varieties of
superimposition upon the rope. Rope-31f&BH is one. The superimpositions are not
one. Different people according to their vasanas they may mistake the rope as
snake or ATAT or water hose. Or it can be crack on the earth or a streak of water.
Superimpositions are many. But &8 SfredT is one. These two are taken for
granted by Sankaracharya. Whole world is superimposition on the 3TeHT; just as
different erroneous perceptions are there on the rope. Up to this is what we already

know.

For 3ffehRR analysis Sankaracharya introduces another part also which is unique to
Aruger. What is that? In the place of the universe, which is called the world of
object, we have got a corresponding world of names also. Because very object has
got a relevant name also. Therefore, Sankaracharya says, there is not only world of
objects. Parallelly there is a world of words. If there is an object we have got a word
wall. If there is an object there, we have a word ceiling. If you are sitting on
something we have got a word carpet. Therefore, 31 wgs, is associated with 21
ugsd. Therefore, you have to divide the world into two; 31 uusd. 31 means
objects. 21e& Tgsa means world of words. It can be called are uasd and 31 yus.
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Or it can be called 1 ygs= and A1 oS4, A means name. AT means objects.
So, corresponding to the world we have got what? World of words. And
corresponding to 3TedT, which is the 31f&8H of the world we have got a 3ifesm for
the 21e& UUSd also. If 31 was= has SfTeAT as the 1RV, 21eg UUsH also has a JfesM.
And what is that 31feBT? 3ffehR is the 3BT of 2re wa=4. So, parallel to the snake is
the world. Parallel to the world is the word. Parallel to rope we have the 3ifes of
3MTeHT. And parallel to #TedT we have got 3ffehRR: So now 3 pairs. Snake and rope.
World and &redT. Words and 3ffeeR. Snake and rope. World and 3fredr. Words and
3ffeR. Of these 3 pairs, snake is f2ar. World is et Words are f@ar. Rope is 9.
STeHT is |ed. iR is fEsI &<, This is point no 1.

Then the next point is, if rope is the 31f8T of snake, we can present it in another
way. Rope alone appears as snake etc. Similarly, 3Te#T is the &1 of the world.
How can you present. 3TedT alone appears as the world. Parallelly, $fihR is the
&8 of all the words. Therefore, 3ff&R alone appears as all the words in which
language. In all the language. And elsewhere the 3ufug itself gives the logic also;
sub commentators refer to that. IufAwg itself gives the logic. 3R alone appears
as all the words in the universe. How? I have talked about in some & class. I am
just going to remind. The first letter of 3ff&R is 31 nor 37}. Because 3t itself is a
mixture of 31 and 3. Therefore, the first part of effehRR is 31. And d<T says elsewhere
31ehRIa |4 ar1ep. All the words are only modifications of one basic sound. What is the
sound? The sound that comes when you open the mouth. If you open the mouth
and produce the sound what will be the sound. A. Whether it is an Indian who is
opening or Chinese who is opening. Even though it may sms wrs. Even a Chinese
when he opens the mouth what is the fundamental sound. 31 only. In all languages
of all over the world first letter is 1. And that 31 alone modifies into different letters.
When you make faces. When you show your teeth, and produce the sound. If you go
to dentist gy 1@ QFrede wr L i F srL® Geragyeud Therefore, you show your teeth
and produce sound it will become 3. Thus, all the alphabetic letters are sopadika
3hR: kR with different upadhi appears as different alphabetic letters in which
language? In all the languages. So, Therefore, 81 is all letters. And later join together
makes words. Therefore, 3feRIa &4 arep. And SfieRR also contains 3R only.

Therefore, 3ffehR alone appears as all the words. Thus rope appears as snake. 3ITeHT
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appears as world. 3ffeR appears as all the words. This is the first statement.

Tooarfe, guife faereawar seue: wafd. We can add the verb bhavati and put a full stop.
So, rope etc. is the 3RS ATAE: means the basis, the fABMH for what? faereusa
fa@ea means adhyasa: superimposition. It is a technical word. Very often it will be
sued f&ea means superimposition of sarpadi faeea=a of snake etc. Rope is the
AfSH, Then in the first line there is the word &a: that we will take it as gt and
make the next sentence. Iyt evam AT advaya: STeHT -in the same way. In the same
way means like the rope. In the same way the non-dual 31redT, paramatf; san being
the ultimate reality uronf& faereasr smeae: wafd. Again, Wafad we have to supply.
uronfe is a technical word for the whole cosmos. And why is it called wTonf&. Prana
means fgroary. And fgzuamaf is first born. Therefore, wmonf; what type of fgzuamef?
Rereasa. faerea means @2t poor f@zoamed. In one-word Sankaracharya sets aside
as superimposition like fgzoa@yf. For that s1meus: s1redt is the fS™H, This is the

second message. Up to this is known message.

Now he goes to the unknown part. UT dUT is the same way, like the rope like the
STeHT MR is the fABHH of a1 Uasw; look at this. Hatsfd arg yas=: the world of
words. So, you have to take all the dictionaries available in all the libraries. In which
a language. All languages; take all the dictionaries; not abridged one. The original
unabridged each one is like a pillow. Every year they add new words; you take all the
words they will come under drep Wasd. The world of words. And these worlds of
words are dealing with what/ dealing with the world. Revealing the world.
Therefore, umonfe smeat faered fawa:. agdifa. Sanskrit students. All the words which
reveal the world of objects. So, the world of words, which reveal the world of
objects. So wronfg SrenT fAeey; wmonET; StenT ey, Ta fawam:, or fAww; o= arp
nusad. agdif Adjective to @@ wasda. And what is the ifasm? SffeRR is the
fIs™H, And instead of saying 8ff&R is the 3ifsrH, Sankaracharya slightly
changes; instead of saying 3R is the SfS™H of words, he says 3ff&R alone is in
the form of words. 3ffeR is the SIfSHH of words. Means 3ffehR alone appears in the
form of words. OK. Now a question will come. if we think. But we cannot think; we
have to struggle to understand’ then only thinking further. Suppose we think

further, we will have a question.
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Now we talk about 31ef ygsa and 21e& Ugs4. For 31 Ugsa what is the ifasrFy?
3MTedT. And for the 216g Wgsd what is the 3ifs™®? sfieR. Therefore, for two Wasds
we are talking about two SfS™IA. Then does it mean that there are two realities?
So Sankaracharya imagines we may think and ask this question. He says no. Even
though we refer to by two words, both of them are essentially one only. Later we
will see. 2reg Ugsag HfABHH 3fwR: will be revealed as silence; consciousness. So
3ffehR will be revealed as Amatra silence consciousness. The 3fsTH of 31 uus,
will be existence. The existence which is the fs™ of 312 wus4, the consciousness
which is the 3IfsT=H of 2reg Ugs4; they are not two separate ones. §&d R, Rda &«
. Therefore, 3fTedT and 3fiahR are not separate 3fASMH, There is only one. One and
the same truth when it is 3If8™#H of words, we call it 3ffeR: When it is S1frsT9 of
the world we call it 3iTedT. A8 9g: 9 g IfABH de: Therefore, Sankaracharya says, 9;
9. §; 9 means that 8ffeeR: So the topic gets profound. We will have to do lot of #+.
So that 3ffehRR is HTeHT TFUAT is essentially 3TeHT only. They are not two separate
s, Why? aeffuraereard because 3ifaR ultimately reveals 31TedT as its essential
nature which is silence. We ae going to see those details there. d&f¥uraeeTd since
3fehR reveals 3TEHAT as its very nature. 3ffeR is not different from efredT. Therefore,
there are no two JfSMTIMA. There is only one f8™H named differently. It is like a
person being called husband from the stand point of wife. The same person is
called parent from the stand point of children. Thus, based on <& Ugs« one is
called 3fiehR. Based on 31 ugsw the same AfASMH is called 3fredT. Therefore, it is
the only stand point; not two different Sfs™fA. And then another question may
come, if we think further. So Sankaracharya imagines that possible question and

answers that. Going little bit deeper. We will read.
MghRfdrRcdgER ATy 9d: urnfercrdtehedtsiaem eafareur A1fEd |

So, in the previous section Sankaracharya made three statements. Rope appears
as snake etc. 3TeHT appears as the world. 3ffR appears as the words. Now the
question is: can we say, 3fieR alone is all the words in the world? Understandable
because &R alone. especially the 3R part is appearing as everything. So 3R
alone is in the form all the words of the universe can be said. And you can say 3TeHT
alone is in the form of world we can say. But we cannot say, 3fieR is alone in the

form of all the objects you cannot say. Are you able to get the point? You can say
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3ffhR is in the form of words. 31Te#T is in the form of objects. You cannot say 3ff&R is
in the form of words and efi&R is in the form of objects also you cannot say. But
what does the #3IT say? 3fifAcddd 31&R 3& 4. So now the doubt is: how you can say
SffeRR is in the form of words also? ff&R is in the form of: Can you fill up the blank?
Objects also. Can be in the form of words. OK. But how can it be both 1< yg=<r and
31f ygs=? And for that Sankaracharya gives a reasoning. This is based on the
By IufAug 6t chapter. Anything that is a product, doesn’t have an existence of
its own. Anything that is a product doesn’t have an existence of its own. And
therefore, it exists in the form of a word. araREyUi fdeR: this statement you have to
bring from ®1=&1w,. Every product exists only in the form of a name. And in ®r<rg I
have explained. Therefore, I am not supposed to explain in ATIGeR. But since you
are staring at me, I will tell you what I said there. When you say there is a desk in
front of me. Then what is the thing in front of me? Wood. So what is there is nothing
but wood, in a particular shape. And for the sake of transaction, we are using the
word a desk. Desk is the word, we don’t have a corresponding object for the desk.
This is mind boggling vedantic object. We have a word desk. But there is no blessed
object called desk. Then what is the object/ wood alone. Chair is a word, there is no
object. Similarly, cot or dais is a word; not an object. From this we are generalizing
the entire world of products, entire world of products are non-substantial. Or non-
substantial. They exist in the form of words only. Therefore, what is akasa;
according to d&r=m? Word there is no thing called space. No vayu, other than the
word vayu. So akasa vayu they all exist only in the form of words and those words
are nothing but 3ffehR. And therefore, 3ff&R is in the form of words. Word is also in
the form of words. World is in the form of words only. What are those words? 3ff&R.
Therefore, 3fiehR alone is 2Me& WGSH also. This is the fresh message. Previously we
said 3fiehR is Me& UIs™ now the additional message 3ffeR is not only 2Te& Wasd but is
also o1 wgsa why? What is the logic? Because there is no 31 wgsa other than
what? 21e& wgsd. Therefore, both 21e& wasd and the so called 31 wgs= is nothing
but SffeR: eva. So | 3ffeR eva. It is logically possible. What is the law? fa@R:
IERENUT AT 9. Any product is a word only. In fact, what is fm? far means it
has got a wordy existence. My English it has got only a wordy existence. And the
Iufug says world exists on your tongue. On your tongue means, because you use

the word world it is there. But there is no such thing called world at all. Now look at
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this sentence. Very profound.

&d: gronfe:- gronf: means it is a technical word for the universe. 3itedT fa@ea: which
is nothing but 3TeHT’s superimposition. Superimposition on the STedT. So, the entire
universe which is as superimposition on that these are descriptions of the world.
Superimposition on the 3TedT. And 21e& 3tfRgagy and which universe is revealed by
different words. These are all the advantages of Sanskrit language. They can make
just make a compound. In English translation is very difficult. The entire universe
which is superimposed on 3fedT and which is revealed by different words. g
sifadd: efffda: means revealed by words. And what type of words? Which are
superimposed on $fihR. Because words are noting efieeR manifestation. So,
different - I don’t know how to tell. The different objects of the world which are
superimposed bon &TeAT which are revealed by different words which are
superimposed on 3ffeR. I will try to make o my own compound. 3TeHT
superimposed objects are, revealed by SffeR superimposed words. 3TeHT
superimposed objects are, revealed by 8fiehR superimposed words. And these
objects do not exist separate from words. If you understand I am lucky. I cannot go
one and on. Therefore, he says 3R fA®R 21z 3ifAdag so revealed by words which
are superimposed on 3ffehR 4 umonfe: 3redT RA%ke; in short, the objects stfAu
agfadhur A1} objects do not exist separate from words. Words do not exist
separate from 3ffeR. Therefore, 3fiehR is everything? Ok we will read. I don’t know

whether we read.

“FrARETU] fJpRY A" (|13 &| 2 | ¥."deRE amT a1 A\ EY: 94 fOd “gd gic A= “
gaTegfasa: |

So, these quotations are very important quotations. To show that, world exist only
in the form of words. There is no such thing called world at all. Very, very difficult to
swallow. But we have to swallow if we come to HT9geRI and if we don’t, second
chapter third chapter and all GPA thoroughly show that = fARtent 7 ateafw: F gl =
gI¥eh: no creation no existence no resolution. They are all only your verbal
expressions only very important quotation first quotation we have seen in BTarg
faeR; Am 94 that alone is relevant for us. fd@R; means any product 9T &1 means

is a word only. Not a substance. And what is a word? 9rEIRFHUT initiated by our
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tongue. Then another quotation here the reference is not given but in some other
editions reference is given it is from e 3RUg&H, Not IUfAEg, VAT AHRVGHH we
have not seen.2-1-6. 2-1-6. So "d&EAE araT d-<dT AHN: THA: |4 &< it is a highly
imaginative expression. Now in the olden days the people had lot of cattle at home.
And cattle were the wealth in those days. And cattle they take for grazing and bring
back. And how do they lead cattle to the grazing ground and bring back home? By
using two types of ropes. One is called general rope. And another is specific rope.
And what do you mean by specific rope. That is the rope which is toed on the neck of
all cattle. Each individual member of cattle has got one neck tie as it were. A rope
around the neck. It is called fagts @=g:. And if the leader has to handle every cow, he
will have to hold so many ropes. And he has got only two hands. Therefore, these
fasty a=g are tied together with another A=A d=: which connects all the fastw a=g;
and this person handles the cattle or cow, with the help of the || d=] which is
connected to faghy @=g. Thus, the person handles all the cow. This is the example.
Man handling several cows with the help of general d=g. General rope and specific
rope. ST faghy a=gaai. Similarly, humanity handles the world. So, when you have
a meeting for an important function. You have to talk about so many people; so
many objects. If you have a wedding, you have to talk about food items, dining
table, cook, and the people and all. So how do you handle so many people? You use
your arfifed. And the aTes T aTeR, will become the general rope. It is with the aTeg
in general you are handling. I am conducting the class dealing with so many things.
I bring to your mind - I hope; I bring to your mind 2r1eg ugsda 31 ggs= so many
things. I am carrying to the class room and presenting in front of you by a 9= d=q
called ateh. So, one hour what am I using. dTeh, dTeh, dTeh, aTeh. And HTHIN Mg cannot
deal with specific object. Therefore, the €T 21e& [ use, to utter fasiw ereg. So WM™
arep is used for the utterance of fasiy ereg. fasiw 2reg doesn’t exist without ETHT 21ez.
First, we have to tell what? What is Swamiji doing? Speaking. That is |™™. And
within the speech we have got faiw 21eg. And therefore, just as the cattle are
handled with the help of a general and specific ropes, the humanity handles the
world with the help of general and specific word. There is no specific word separate
from general there is no word without specific. Both of them are together only. That
is the Vedic &=T. Very, very beautiful #=1. aram d=eat the general rope is called af=:
af|a: they used to tell gz@ for wireless. And what is af<? ararm - ar means 21
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"I, So, in Brihadaranyakam g=¢f3: 2reg o 2reg 2rgah 21eg AT fazie we have
discussed briefly #3ft sgmvi if you have notes you can refer to there so arT d«ear
with the help of general rope and Amfa: g@fA: So, the specific words are like what?
/& &M means specific rope which is tied on the neck of a particular cow. So, we
require both general and specific. Otherwise in one hour I only make one sound
mmmmmmmmmmm.!!!, you will run a way. Or simply g GQeredGmasr eudsmi@mGs.
You will run away I have to produce 2I=%. It has to be specific also. So araT d+ar
AmfN: @A, arET a=ar means aTeg 9 a1, 9 ®9 MR, 949 f&d. 99 means entire
universe is connected to words only f@d. Means connected network. Www. 94 f&
Hag and another quotation in the same Taa Rvgeh T4 fg 3¢ am f&d; Rd we
have to supply. Everything is linked to AT words only. That is why you imagine we
don’t have organ of speech. Almost all transactions will come to a standstill. One of
the major differences between animals and human beings. Animals how many
transactions are there? Eat, produce, and die. That is the only thing they have. If we
are having 100s and thousands of industries, institutions, classes note books shops
for selling them all CDs, all transactions if you analyse it is all areh, aTeh, a1eh only.
Therefore, the world is tied by the two=fold rope. Iti ityadi gffasar:; and all these
words are resting on $ifeR. Therefore, ¥4 3R eva is the beginning of ATogER
Sufdwg, Therefore, by analysing 3ffeR you are analysing the whole universe. Later
we will see SRR represents ¥Ye UGSH, 3 represents Y&H UUsH H represents Udsd
ugsd silence represents 3fASI brahma. Thus, by simple analysis of 3ffehR we cover
not only the adhyasta wgsd. But the 3f® also. Therefore, 3ff&R is worth

analysing. And therefore, the next class is worth coming to.

+ quiHe: uifte quiq yoige= |
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006 - Introduction (Cont’d)

Page no 26 vt&9H top line,

‘FEARFHYT RAHRY AT (BT, 3. & | ¢ | ¥) ‘dEEAE 9T decdl AANGHAN: Td R{aA,
d g amfar (X 3m 2 | ¢ | &) geameyfasr: | Ia 3mE —

In this portion which we completed in the last class, Sankaracharya gave an
introduction to the first 71T, which is the introduction of 3R fa9R: I said the IufAvg
introduces 3fieR fd@R in the first matra and the actual enquiry is done in #=Ts 8 to
12. In between, from the second #=T up to the 7t 7=, it is g€ 74 fa=aR: Thus two
enquiries are there, 3R faTR and sra=er 37 fa=R. Or 31T fdaR. Of these two WT=IhR
is highlighting 3ffeR faaR, because that is introduced in the first 511, And the 3IufAvg
introduces that by making a statement which cannot be normally accepted. And
what is the statement? 3fiR is the entire world. And since it is an abnormal
statement Sankaracharya himself explains, by quoting the ®~<I¥a 71, he pointed
out, products do not exist independently. They are all in the form of /9 only. For the
desk, there is no object at all. For the word wood, there is an object. But for the word
desk, there is no object separate from the wood. Therefore, the word desk is a
product which is nothing but a ™. Therefore, the world doesn’t exist as a
substance. The word existed in the form of dig Udsd; and the entire drgh Udsd

doesn’t exist separate from 3ffcR. Because 3R alone represents all the alphabetic

letters. Therefore, iR is dT TS, alg Uusd is 31 Uusd. Therefore, FR is 37k
yusd. Therefore, the whole universe is only 3ff&R. So thus, he justified the IufAugjc
statement in the introduction. And he will restate the same thing while commenting
upon the first 3T also. Before entering to that we will read =T no 1. And enter the
first chapter of HTUgE Uhu, Page 26. Chapter 1. 51 1.

Sifcserc ¢ o oA e R A S O | e
deighR T 1R 1l

First, I will give you the gist, of this #=1. The IufAug makes a sankshepa arH or I
g1, That 3ffeR is everything. And the word everything in a particular context can
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have a restricted meaning. Or in an appropriate context it can mean everything
without exception. Generally, we give the example. When in a function somebody
comes and says all of you come. Lunch is ready they wait for lunch. All of you come.
The lunch is ready. There he uses the word all. And that word all doesn’t mean all
the people of the world. There the word all refers to what? All the invited people
who have assembled and who are ready for lunch. This is called the restricted
meaning of the word all. This is called delsi; 4 Ug Hehtal: and here the Iufasg uses
the word &R is all. So naturally the question will come, is the word all, with Satst
31 or whether it really and literally means all. Now the 3Iufawg wants to say that,
here it is nor Tated; $ffeR. But the word all literally means all. And therefore, the
3ufAug itself explains the meaning of the word all. AT 318RH 3aH FdH is T a1,
And the 3ufAuc itself explains that sentence. By using later sentences. So, what are
the later sentences? d& IuaARAT we have to transfer to the end of the #=1. 3/ &
Iy must be transferred to the end. Now we are getting 94 Ug &rA=H by the
IUfANE itself. The IUfANE says 9d Waq ¥fawd 3fd @7 sffer Ta. That means what? The
word all refers to the entire cosmos of the present, the entire cosmos of the past.
The entire cosmos of the future. Everything is 3ffR. That means what? dq doesn'’t
have a restricted meaning. But it has got an unabridged meaning. And, when you
use the word past present and future, it refers to the universe, which is within time.
Because past present and future refers to the world within time. Then it will be a
restricted meaning. Therefore, the 3ufAwg says, not only the world within time, but
anything that is beyond time that also is nothing but 3fieR. Therefore, @ret sifafea—=
UUsd: P SHfafed—: Uusd: d: AfU 3R Ta. Therefore, 3ufwg says, I 3= B
3, eIl means ¥d @hIel, Wdd e, Yad means JdHT hiet and WIS aret. Is fBrepTe.
3idlaq means what? That which transcends; Like AT, May is the creator of the time

itself. AT Shfctd 22T hldl ahlciET, since | is the creator of time, AT must exist even

beyond time. &Il T RIATdIG: If AT is ShTelldid; what about 3R who is the owner
of AT the master? %% also is dedta: what about Ao sI&1? Of course. Therefore,
fAeret srcflas means AT, %R, §@F they are also nothing but $ffeeR. In short ¥4 means,
gd. Everything without exception. And one of the sub commentators for Sankara
HTIH_ there are other commentaries, Anandagiri has written a commentary on,
Sankara’'s commentary ¥ITST &enl. Sub-commentary (SC) is called &1, And there is
one dfREH= WHEfd. He has written a €, SC on Sankara sgH, And there is
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another 3maTd, 3rYfd W&y =R he has written a éiel. Thus, there are several SCs on
9TH; one of them, that is If<eM=< ¥&id makes an interesting observation being

an interesting I am referring to that. He says the STId @Iel. STRIC_ &hldd means time
available during the waking state. ST @TeT exists only within STId. 31a¥T. Correct,
isn’t it? Only when you are in the waking state what is available? SITUd ohIeT is
available. And ¥¥ &<l is available when? When you are in ¥ 3[@T; in WHIGXT, &H
&I is available. Therefore, he asks an interesting question, STRId ahlet is within ST
ST, Since ST el is within ST a2, ST STa¥IT cannot be limited by ST &hre.
Why? Because SIUd g7 is not within ST, @led. Why? You have to do some
meditation. STRIC, STG¥AT is not within ST e, because, STU @re is within ST
T, You are within this room. Therefore, the room is not within you. Correct isn’t
it since you are within the room, the room cannot be within you. 3T&IR cannot be
Mgy, Similarly, S| Tel is within STRId. 31a¥dT. Therefore, SR {GeAT cannot be
within S| e, Therefore, STRIG 31T is I 3fdld: You have to meditate on this.
ST, AT is Il 3Acdid: Similarly &9 &I is within THTeRer. Therefore, THTERAT is not
within % &rel. Therefore, UG is also @It 3fdld: Therefore, on enquiry, all the
three 31G¥AT: are &It 37did: A very ingenious observation. To assimilate this idea yo
have to spend lot of time. 19 ? You have to spend lot of time to understand that
the 3/@=AT: themselves are @rardta: Thus, everything which is beyond @, is also
3faR. Therefore, everything within @, everything outside @I, everything without
exception is iR Td. Thus, SfiR is everything is without any restrictions. And
therefore, by analysing $f&R, you are analysing what? Everything. So, the truth of
3R will be the truth of everything. Therefore, sfféR fGaR is a worthy enquiry. And

now you have to read the left-out sentences. & I said you should transfer. d&

IhRT 37 IUATAH. So, the following IufAwe is an Iuaar&M. An intimate and
intense analysis of that 3ff&R.

afcde SfpRE IR faar:. This is the gist of the #=1. With this back ground, we
will go into the yrsgH,

“ JfAddeeriaE adfafa” | aRendsanfRdasyd aaaf¥umrenforer
sfRuaTTRRAfRFREFRER TdE 9d | uwa sgnfRamis duaragdeda mad salgsar
qa|
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AT 318 367 94 3fd. The first sentence is within inverted commas. You have
to put a dash indicating that Sankaracharya wants to comment upon this portion.
This is called Udtd 7Igui. You make the first statement to indicate the entire 3ufAug, So
S AT IR, And now he says afed 31ef Sird. 318f means what? The object.
The world of objects. And every object is what? The meaning of a word. And in
Sanskrit a meaning can be called 3r2f: or Sankaracharya introduces a word, better,
you register this word, because it will be often used in the ¥T&gHq, The meaning of a
word is called if9ed. regxT 31ef: ggw 37 is known by another Sanskrit word 3ife,
So thus, 3if9ed refers to what? Every object in the creation. Because every object is
the meaning of any word only. A relevant word only. And a word which reveals the
objects, which is normally called 9&H or gTsg; Sankaracharya uses a new word. This
also you register in mind. Because repeatedly this Sanskrit word we will use 3ff¥ar,
Jif9e™ means word. %€ means the meaning, the relevant object. The word wall
is 31f9y™. The object wall is 3if98d. The word chair is 39y, The object chair is
3if9ed. Thu the whole world is a mixture of 394 and sif9E,

Now Sankaracharya says according to ®rg Jufaug the f989 gusd; doesn't exist
separate from 3fe. According to what? BT are aaReTT f[ddR:; every product
is only an if%em. There is no such thig called 3if984. Therefore, he says afed 37 ST
The entire world of objects, &7 o which is the meaning of words. Jf9&a ¥d or
31f98T =4 which are all meaning of the words. a8 3if94 sreafaie sreafaied means
non-difference. So, these objects are non-different from, do not exist separate from
Jif9eT. Separate from words. Based on araRs0f fdeRt Am&aH and if you remember
B, the Iufug takes, every object like stifea; S1f/: etc. STaTTIq ST snfeaed. On
enquiry, the Sun stops to be Sun because there is no object called Sun. Sun becomes
what? Sun means, I know you all have sons. I am not talking about that. That Sun is
only a word. There is no object called Sun. Beautiful expression STATTIq ST,
i - g4 loses the status of gd, I= loses the status of I=. Desk loses the status
of desk. Because there is no such thing called desk. What is? There is nothing but
wood only. Like that everything loses its status; what is there is nothing but ifem
eva. And parallelly we have another powerful &= in Brihadaranyakam also.
Brihadaranyakam first chapter 6t SgrUi 314 T 3¢ ATH ¥4 &H SITd- the world is nothing
but names and forms only. There is no substance at all. Thus, sif9e @&faRerd, There
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is no fAYT separate from 3if9eT. So thus, we have resolved object into words. Now
what is the next step? He says, 3if4=& 7 3ffeR 3reafaRard, And all the sifam= are
swallowed by 3R, sif98ds are swallowed by 3fem. sfar is swallowed by 3R,
Therefore, what is there? 3ff®R alone swallows a everything. sif9am=r T 3ffaR

Jreafareprd, sreafaies means sf¥=iard, Non-different from SR, d&HTd bR TF 3&H,
¥dHq, So, this is one profound message of ATUgH. Then in the next sentence

Sankaracharya enters another profound topic. This is also very important in AT0ga.

I will try to preset it now as an introduction. We will be seeing the details later.

Now Sankaracharya says, later the 3fiehRR as a word, is going to be equated to s&H,
Later this 3ff&R, as a word, is going to be equated to &g, We have completed one
topic. The whole world is nothing but 3fiehR,

That topic is over. Don’t mix up that topic with the coming topic. The coming topic is
a fresh topic. That is 3fieeRR as a word is equal to sigH, So 3R means 3f9e™. And
sIigH_ becomes what? 31f3e’i the meaning of the word 3R,

Now we will see, 3ffR has got 4 components. Will be told later. What are they? 313 ®
silence. Silence will be called the @&amef. 31 3 7 are aramy; direct meaning. The silence
is @eay; indirect meaning. Similar SIgM has got 4 components. What are they? faRie
fezogmd, sraafdt and gotam Mo, faRre fezoamsf siwqafHt and fAejor g@@aH, The first three
are ar=nd of the word sigF, The arearyf s is WO foRTe WO fezvars o sraaist
together called S7UT $%%: and then the 4" component is what? 7o g&3. So thus,
3R has 4 components. S has 4 components. When you take arrf primary
meaning it will be what? 3 3 #. Here the primary meaning is favre fgzoamsi saafH.
And the 3ufAug says 31 represents faRte. U represents fgzoans. And ma represents
S=qafH. All these we will be seeing in ATIgH itself Tu ure; gt urg; and Jdta Ure.
And when you are equating 31 and faR1e, 3 and fgzuam, 7 and s=aafHi, the equation is
not absolute. Because 3 is a sound. Whereas faR1 is the entire creation. 3 as a
sound, is 31fA& and TR, It is temporary and it is also limited. The limited 31 can
only represent faR1g; cannot be equal to faxTe, Because it is only a sound. It can only
reveal faRTe, It cannot be equal to farie, Therefore, the equations are not absolute
equation. Just as the word chair, can reveal the chair but the word chair cannot be

chair. The word sugar can reveal the object sugar. But the word sugar cannot be
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actual sugar. If the word sugar is actual sugar, then you don’t have to purchase
while drinking coffee, say, sugar, sugar, sugar and drink. It will be sweet. Therefore,
Jifayr and s1fA9d have only revealer, revealed connections. They cannot be actually
equal. Therefore, 37 and faR1E are not actually equal. 3 and fgzuaref are not actually
equal. ¥ and 3=aatdt are not actually equal. Therefore, when you take ar=d, the
equation will not fit in. Why? Because 31 3 d sound cannot be equally to faRre fgzogmsi
S=qafHl. Therefore, armd iR and ar=md sl cannot be equal. But the 3Iufawg
equates 3 to sigl. The IUMNE equates MR to g, fHu™ If9e it equates. But if
you take ar=mf it cannot be equal like chair the word and the chair the object cannot
be equal. Supposing you say, chair, chair, and chair, and sit somewhere—perhaps
you can try in the next class. But keep a doctor ready. The word chair cannot be
used to sit up on. Therefore, 3ffR and §g] cannot be equal if you are taking ar<am.
But the 3ufAug equates them. Therefore, what you have to do? Like #grarsi Sftared
TRHATH TR, areandf you cannot equate because fag and farre, fgruammsf and faroars
and Ut and 3=atHT; they cannot be equal. Therefore, what do you do? You go in for
&1y, The same methodology you have to use in this new equation. There we are
used to SitaTed URATH equation through #gmaTeR. Here we have got another equation.
3eR = §g]. Here also ar=m fails. Therefore, you have to do what? Go to @&, The
ety of JfeR is TV HHR, U AGR, fAeTeror T the silence. Silence representing
fArfor Ia=™, In silence what is there? Don't say nothing. Silence what is there is
consciousness which reveals silence. Therefore, 3T is what? Ao da=aH, Similarly,
what is the @earfm of sigM? Not &UT farTe, not auT fgRuaer, not &7uT SrafHt. But
o QhaH, vosa IuH 2w AR s1gd. We are going to see that in the 7t 5=, So fAjor
Ya=u is the deardim of sfiehrR. fATfor T&IH is the wgare of s1gH,. And when you come to
&1 what is their relationship? It is not that they are revealer, revealed. They are
not revealer revealed they are not related entities. Then what? They are one and the
same. Therefore, by analysing the equation you arrive at what? One fajor Ia=1 gdam.
in which g&us srfagm sif9da Haw4 is not there. Because =4 requires what? You
have to take Srach. Only when you take STdeh you can become &< of someone.
And get in to trouble or give trouble as the case may be. So Ta=¥ requires &d only in
gty there is 3if9e™ ARSI revealer- revealed. Through the equ